# District School Board of Pasco County Bid Recommendation

Bid Title	Plumbing Supplies Maintenance Department	Number of Vendors Notified	267
Bid Number	09-047-LR	Number of Bids Distributed	28
<b>Date Solicited</b>	August 27, 2008	Number of Vendors Bidding	5
<b>Date Opened</b>	September 19, 2008	Number of Formal "No Bid" Responses	0
Date Board Presentation	October 21, 2008	Funding Source	General
<b>Total Savings</b>	\$30,387.46	Grand Total of Bid	\$160,834.37

#### **Recommendation:**

Recommend acceptance of bids as noted on the attached bid tabulation sheet, as lowest and best, responsive and responsible individual item bid meeting written specifications.

### **Term of Contract:**

This bid is for plumbing supplies "as needed" by the Maintenance Department for use throughout the District. This is a three-year bid renewable annually based upon mutual agreement of both parties. The first year of this contract shall be effective from October 22, 2008 to October 7, 2009. The bid prices are firm and fixed for the first year of the contract and may be adjusted annually based on changes in the Producer Price Indexes of # WPUS1019011, #PCU332913332913 and #PCU4841—4841--.

#### **Notations and Exceptions:**

Recommend rejection of Best Plumbing's bid for item #NPK61 for failure to bid OEM as specified. Recommend rejection of Ferguson's bid for items #SPT28 and SPT28A for failure to bid OEM as specified. Bridgeton Plumbing had an error on items #NPQ10A and #NPQ10B and could not hold their unit price. Therefore they have withdrawn from these two items. Recommend rejection of all bids for item #SPT68 as the District did not specify an OEM product. Recommend rejection of item #SPW11A because no bids were received for this item. Request permission to purchase these items after obtaining quotes.

Offers from the vendors listed herein are the only offers received timely as of the specified opening date and time. All other offers submitted in response to this solicitation, if any, are hereby rejected as late.

Savings were determined by averaging all bids submitted and subtracting the recommended vendor's price.

#### **Bids Evaluated By:**

Barbara Laycock, Maintenance Operations Manager, Maintenance Department

#### **Bids Prepared By:**

Laurie Roberts, CPPB, Buyer, Purchasing Department

## **Reviewed and Authorized By:**

Kendra Goodman, CPPB, Purchasing Agent, Purchasing Department

Date/Time: October 15, 2008; 08:57:00

DATE OF	OPENIN	IG: September 19, 2008 @ 2:30 PM	Best Plumbing	Specialties Inc	Bridgeton Plumbing & F	leating Supply Company	Fer	guson
BID TITLE	: Plumbi	ng Supplies - Maintenance Department	3039 Ver	ntrie Court	8 West Br	oad Street	10502 Gr	ays Lake Ct
BID # 09-0	47-LR		Mversville.	MD 21773	Bridgeton.	NJ 08302	Tampa.	FL 33626
		**Board Meeting 10/21/08**	, , , , , ,		, J. 1. 1		25   25	
ITEM#	QTY	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
NPA11	30	2" PVC DWV SANT TEE SCHEDULE 40	No	Bid	\$1.71	\$51.30	\$1.68	\$50.40
INI ATT	30	MANUFACTURER / PRODUCT #	140	Did	NIBCO	·		PDWVSTK
NPA11A	25	2" X 1 1/2" PVC DWV SANT TEE SCHEDULE 40	No	Bid	\$1.52	\$38.00	\$1.49	**\$37.13
NIAIIA	20	MANUFACTURER / PRODUCT #	140	Did	V1.52	·	* -	PDWVSTKKJ
NPA24	40	4" PVC DWV 1/4 BEND SCHEDULE 40	No	Bid	\$5.54	\$221.60	\$5.778	\$231.12
INFA24	40	MANUFACTURER / PRODUCT #	INO	DIU	φ5.54 NIBCO	· ·		پورې e PDWV9P
NPA26	50	2" PVC DWV 1/4 BEND SCHEDULE 40	No	Bid		\$54.50	\$1.072	\$53.60
NPA26	50		NO	Bia	\$1.09	•		
NDAGZ	00	MANUFACTURER / PRODUCT #	NI.	D: 1	NIBCO			e PDWV9K
NPA27	90	1-1/2" PVC DWV 1/4 BEND SCHEDULE 40	No	Bid	\$0.74	\$66.60	\$0.678	\$61.02
		MANUFACTURER / PRODUCT #			NIBCO			e PDWV9J
NPA31	50	1-1/2" PVC DWV ST 1/4 BEND SCHEDULE 40	No	Bid	\$0.92	\$46.00	\$0.845	\$42.25
		MANUFACTURER / PRODUCT #				4807-2		PDWVS9J
NPA37	60	4" PVC DWV 45° 1/8 BEND SCHEDULE 40	No	Bid	\$4.41	\$264.60	\$4.601	\$276.06
		MANUFACTURER / PRODUCT #			NIBCO	O 4806		e PDWV4P
NPA38	40	3" PVC DWV 1/8 BEND SCHEDULE 40	No	Bid	\$2.88	\$115.20	\$2.824	\$112.96
		MANUFACTURER / PRODUCT #			NIBCO	O 4806	Charlotte	e PDWV4M
NPA40	40	1-1/2" PVC DWV 1/8 BEND SCHEDULE 40	No	Bid	\$0.73	\$29.20	\$0.67	\$26.80
		MANUFACTURER / PRODUCT #			NIBCO	O 4806	Charlotte	e PDWV4J
NPA43	50	4" PVC DWV ST 1/8 BEND SCHEDULE 40	No	Bid	\$4.22	\$211.00	\$4.398	\$219.90
		MANUFACTURER / PRODUCT #			NIBCO	4806-2	Charlottee	PDWV54P
NPA44	30	3" PVC DWV ST 1/8 BEND SCHEDULE 40	No	Bid	\$2.62	\$78.60	\$2.57	\$77.10
		MANUFACTURER / PRODUCT #		-	NIBCO	4806-2	Charlottee	PDWV54M
NPA45	20	2" PVC DWV ST 1/8 BEND SCHEDULE 40	No	Bid	\$1.03	\$20.60	\$0.942	\$18.84
		MANUFACTURER / PRODUCT #			· ·	4806-2	*	PDWV54K
NPA46	15	1-1/2" PVC DWV STREET 1/8 SCHEDULE 40	No	Bid	\$0.67	\$10.05	\$0.613	\$9.20
141 7140	10	MANUFACTURER / PRODUCT #	140	Бій	*	4806-2		PDWV54J
NPA49	30	4" PVC DWV COUPLING SCHEDULE 40	No	Bid	\$2.55	\$76.50	\$2.495	\$74.85
IVI A-3	30	MANUFACTURER / PRODUCT #	140	Did	WE.55	•		e PDWVCP
NPA50	50	3" PVC DWV COUPLING SCHEDULE 40	No	Bid	\$1.54	\$77.00	\$1.512	\$75.60
NEASO	30	MANUFACTURER / PRODUCT #	INO	Diu I	VIBCO	·		e PDWVCM
NPA51	50	2" PVC DWV COUPLING SCHEDULE 40	No	Bid	\$0.51	\$25.50	\$0.437	\$21.85
ICAMI	50	MANUFACTURER / PRODUCT #	INO	DIU	φυ.ο ι NIBCO	•		ֆ∠1.85 e PDWVCK
NIDAGO	50	1-1/2" PVC DWV COUPLING SCHEDULE 40	NI.	D: 1				
NPA52	50		No	Bid	\$0.40	\$20.00	\$0.335	\$16.75
		MANUFACTURER / PRODUCT #			NIBCO			e PDWVCJ
NPA63	40	4" PVC DWV PLUG SCHEDULE 40	No	Bid	\$1.66	\$66.40	\$1.628	\$65.12
		MANUFACTURER / PRODUCT #				O 4818		PDWVCOPP
NPA69	20	4" X 3" PVC DWV BUSHING SCHEDULE 40	No	Bid	\$2.34	\$46.80	\$2.298	\$45.96
		MANUFACTURER / PRODUCT #				4801-2-F		PDWVFBPM
NPA71	40	3" X 2" PVC DWV BUSHING SCHEDULE 40	No	Bid	\$1.38	\$55.20	\$1.353	\$54.12
		MANUFACTURER / PRODUCT #			NIBCO 4	4801-2-F	Charlottee	PDWVBMK
NPA72	40	2" X 1-1/2" PVC DWV BUSHING SCHEDULE 40	No	Bid	\$0.59	\$23.60	\$0.537	\$21.48
		MANUFACTURER / PRODUCT #			NIBCO 4	4801-2-F	Charlottee	PDWVFBKJ
NPA85	20	1-1/2" PVC DWV TRAP ADAPTER SCHEDULE 40	No	Bid	\$0.92	\$18.40	\$0.899	\$17.98
		MANUFACTURER / PRODUCT #			NIBCO	4801-7	Charlottee F	DWVFTAPNJ
NPB09	100	2" PVC PRESSURE TEE SCHEDULE 40	No	Bid	\$1.33	\$133.00	\$0.878	\$87.80

DATE OF	OPENIN	G: September 19, 2008 @ 2:30 PM	HD Supply Fac	cilities Maintenance, LTD	Warner Plumbing S	Supply Co of FL Inc
BID TITLE	: Plumbir	ng Supplies - Maintenance Department	10641 S	Scripps Summit Ct	5205 N Ne	braska Ave
BID # 09-0	)47-LR		San D	liego, CA 92131	Tampa, I	FL 33603
		**Board Meeting 10/21/08**				
ITEM#	QTY	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
NPA11	30	2" PVC DWV SANT TEE SCHEDULE 40		No Bid	\$1.55	\$46.50
		MANUFACTURER / PRODUCT #				SCO
NPA11A	25	2" X 1 1/2" PVC DWV SANT TEE SCHEDULE 40		No Bid	\$1.37	\$34.25
		MANUFACTURER / PRODUCT #				SCO
NPA24	40	4" PVC DWV 1/4 BEND SCHEDULE 40		No Bid	\$5.29	\$211.60
		MANUFACTURER / PRODUCT #			Las	
NPA26	50	2" PVC DWV 1/4 BEND SCHEDULE 40		No Bid	\$0.99	\$49.50
NEAGE	00	MANUFACTURER / PRODUCT #		N. D. I		800
NPA27	90	1-1/2" PVC DWV 1/4 BEND SCHEDULE 40		No Bid	\$0.63	\$56.70
NDAGA		MANUFACTURER / PRODUCT #		N. D. I		800 00
NPA31	50	1-1/2" PVC DWV ST 1/4 BEND SCHEDULE 40		No Bid	\$0.78	\$39.00
NDAGZ	00	MANUFACTURER / PRODUCT # 4" PVC DWV 45° 1/8 BEND SCHEDULE 40		NI. D' I		\$CO
NPA37	60			No Bid	\$4.20	\$252.00
NEAGO	40	MANUFACTURER / PRODUCT # 3" PVC DWV 1/8 BEND SCHEDULE 40		N. D. I		0.4.00.00
NPA38	40			No Bid	\$2.59	\$103.60
NIDA 40	40	MANUFACTURER / PRODUCT # 1-1/2" PVC DWV 1/8 BEND SCHEDULE 40		NI. D' I		SCO #0.4.00
NPA40	40			No Bid	\$0.62	\$24.80
NDA 40	50	MANUFACTURER / PRODUCT # 4" PVC DWV ST 1/8 BEND SCHEDULE 40		Na Dia		\$CO
NPA43	50			No Bid	\$4.03	\$201.50
NDA44	20	MANUFACTURER / PRODUCT # 3" PVC DWV ST 1/8 BEND SCHEDULE 40		Na Dia		\$CO
NPA44	30			No Bid	\$2.36	\$70.80
NPA45	20	MANUFACTURER / PRODUCT # 2" PVC DWV ST 1/8 BEND SCHEDULE 40		No Bid		\$17.40
INPA45	20	MANUFACTURER / PRODUCT #		INO DIO	\$0.87	
NPA46	15	1-1/2" PVC DWV STREET 1/8 SCHEDULE 40		No Bid		\$CO
INPA46	15	MANUFACTURER / PRODUCT #		INO DIO	\$0.57 Las	\$8.55
NPA49	30	4" PVC DWV COUPLING SCHEDULE 40		No Bid	\$2.29	\$68.70
INF A49	30	MANUFACTURER / PRODUCT #		NO DIU		\$00.70 SCO
NPA50	50	3" PVC DWV COUPLING SCHEDULE 40		No Bid	\$1.39	\$69.50
INI ASO	30	MANUFACTURER / PRODUCT #		NO DIG		\$CO
NPA51	50	2" PVC DWV COUPLING SCHEDULE 40		No Bid	\$0.40	\$20.00
INI ASI	50	MANUFACTURER / PRODUCT #		140 DIG		\$20.00
NPA52	50	1-1/2" PVC DWV COUPLING SCHEDULE 40		No Bid	\$0.31	\$15.50
1417102	00	MANUFACTURER / PRODUCT #		110 DIG		SCO \$10.00
NPA63	40	4" PVC DWV PLUG SCHEDULE 40		No Bid	\$1.50	\$60.00
141 7100	40	MANUFACTURER / PRODUCT #		140 Blu		3CO
NPA69	20	4" X 3" PVC DWV BUSHING SCHEDULE 40	+	No Bid	\$2.11	\$42.20
,		MANUFACTURER / PRODUCT #				SCO
NPA71	40	3" X 2" PVC DWV BUSHING SCHEDULE 40		No Bid	\$1.24	\$49.60
		MANUFACTURER / PRODUCT #				SCO
NPA72	40	2" X 1-1/2" PVC DWV BUSHING SCHEDULE 40		No Bid	\$0.50	\$20.00
,		MANUFACTURER / PRODUCT #				φ <u>2</u> 0.00
NPA85	20	1-1/2" PVC DWV TRAP ADAPTER SCHEDULE 40		No Bid	\$0.83	\$16.60
1 7.00		MANUFACTURER / PRODUCT #	1			SCO
NPB09	100	2" PVC PRESSURE TEE SCHEDULE 40		No Bid	\$0.90	\$90.00

DATE OF	OPENIN	IG: September 19, 2008 @ 2:30 PM	Best Plumbing	Specialties Inc	Bridgeton Plumbing & H	leating Supply Company	Fei	guson
BID TITLE	: Plumbi	ng Supplies - Maintenance Department	3039 Ver	trie Court	8 West Br	oad Street	10502 G	rays Lake Ct
BID # 09-0	)47-LR		Mversville.	MD 21773	Bridgeton.	NJ 08302	Tampa	, FL 33626
		**Board Meeting 10/21/08**	, , , , ,	_	,			
ITEM#	QTY	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
		MANUFACTURER / PRODUCT #			NIBCO	401-020		ee P40STK
NPB14	50	1" PVC PRESSURE TEE SCHEDULE 40	No	Bid	\$0.52	\$26.00	\$0.317	\$15.85
		MANUFACTURER / PRODUCT #			NIBCO	401-010	Charlott	ee P40STG
NPB17	150	3/4" PVC PRESSURE TEE SCHEDULE 40	No	Bid	\$0.30	\$45.00	\$0.169	\$25.35
		MANUFACTURER / PRODUCT #			NIBCO	401-007	Charlott	ee P40STF
NPB19	80	1/2" PVC PRESSURE TEE SCHEDULE 40	No	Bid	\$0.26	\$20.80	\$0.147	\$11.76
		MANUFACTURER / PRODUCT #			NIBCO	401-005	Charlott	ee P40STD
NPB23	75	2" PVC PRESSURE 45 SCHEDULE 40	No	Bid	\$1.35	\$101.25	\$0.832	\$62.40
		MANUFACTURER / PRODUCT #			NIBCO	417-020	Charlott	ee P40S4K
NPB24	20	1-1/2" PVC PRESSURE 45 SCHEDULE 40	No	Bid	\$1.09	\$21.80	\$0.638	\$12.76
		MANUFACTURER / PRODUCT #			NIBCO	417-015	Charlott	ee P40S4J
NPB25	20	1-1/4" PVC PRESSURE 45 SCHEDULE 40	No	Bid	\$0.83	\$16.60	\$0.508	\$10.16
		MANUFACTURER / PRODUCT #			NIBCO	417-012		ee P40S4H
NPB26	20	1" PVC PRESSURE 45 SCHEDULE 40	No	Bid	\$0.64	\$12.80	\$0.365	\$7.30
		MANUFACTURER / PRODUCT #			NIBCO	417-010	Charlott	ee P40S46
NPB27	80	3/4" PVC PRESSURE 45 SCHEDULE 40	No	Bid	\$0.53	\$42.40	\$0.304	\$24.32
		MANUFACTURER / PRODUCT #			NIBCO	417-007	Charlott	ee P40S4F
NPB28	20	1/2" PVC PRESSURE 45 SCHEDULE 40	No	Bid	\$0.34	\$6.80	\$0.196	\$3.92
		MANUFACTURER / PRODUCT #			NIBCO	417-005	Charlott	ee P40S4D
NPB29	60	4" PVC PRESSURE 90 SCHEDULE 40	No	Bid	\$6.62	\$397.20	4.635	\$278.10
		MANUFACTURER / PRODUCT #			NIBCO	406-020	Charlott	ee P40S9P
NPB30	30	3" PVC PRESSURE 90 SCHEDULE 40	No	Bid	\$3.72	\$111.60	2.592	\$77.76
		MANUFACTURER / PRODUCT #			NIBCO	406-030	Charlott	ee P40S9M
NPB31	20	2-1/2" PVC PRESSURE 90 SCHEDULE 40	No	Bid	\$3.09	\$61.80	2.165	\$43.30
		MANUFACTURER / PRODUCT #			NIBCO		Charlott	ee P40S9L
NPB32	150	2" PVC PRESSURE 90 SCHEDULE 40	No	Bid	\$1.15	\$172.50	0.711	\$106.65
		MANUFACTURER / PRODUCT #			NIBCO			ee P40S9K
NPB33	75	1 1/2" PVC PRESSURE 90° ELBOW SCHEDULE 40	No	Bid	\$0.79	\$59.25	0.455	\$34.13
		MANUFACTURER / PRODUCT #			NIBCO			ee P40S9J
NPB34	80	1-1/4" PVC PRESSURE 90 SCHEDULE 40	No	Bid	\$0.74	\$59.20	0.422	\$33.76
		MANUFACTURER / PRODUCT #				406-012		ee P40S9H
NPB35	180	1" PVC PRESSURE 90 SCHEDULE 40	No	Bid	\$0.42	\$75.60	\$0.24	\$43.20
		MANUFACTURER / PRODUCT #				406-010		ee P40S96
NPB36	350	3/4" PVC PRESSURE 90 SCHEDULE 40	No	Bid	\$0.24	\$84.00	\$0.132	\$46.20
		MANUFACTURER / PRODUCT #			NIBCO -			ee P40S9F
NPB37	250	1/2" PVC PRESSURE 90 SCHEDULE 40	No	Bid	\$0.21	\$52.50	\$0.119	\$29.75
		MANUFACTURER / PRODUCT #			NIBCO -			ee P40S9D
NPB38	30	4" PVC PRESSURE COUPLING SCHEDULE 40	No	Bid	\$3.04	\$91.20	\$2.125	\$63.75
		MANUFACTURER / PRODUCT #				401-040		ee P40SCP
NPB39	60	3" PVC PRESSURE COUPLING SCHEDULE 40	No	Bid	\$2.23	\$133.80	\$1.47	\$88.20
NIDE		MANUFACTURER / PRODUCT #		D: 1	NIBCO -			ee P40SCM
NPB40	25	2-1/2" PVC PRESSURE COUPLING SCHEDULE 40	No	Bid	\$1.52	\$38.00	\$0.939	\$23.48
NDF	055	MANUFACTURER / PRODUCT #		D: 1	NIBCO			ee P40SCL
NPB41	250	2" PVC PRESSURE COUPLING SCHEDULE 40	No	Bid	\$0.74	\$185.00	\$0.425	\$106.25
NIDD 40	00	MANUFACTURER / PRODUCT #		Did		401-020		ee P40SCK
NPB42	90	1-1/2" PVC PRESSURE COUPLING SCHEDULE 40	No	Bid	\$0.48	\$43.20	\$0.277	\$24.93

DATE OF	OPENIN	IG: September 19, 2008 @ 2:30 PM	HD Supply Fac	ilities Maintenance, LTD	Warner Plumbing S	Supply Co of FL Inc
BID TITLE	: Plumbi	ng Supplies - Maintenance Department	10641 S	cripps Summit Ct	5205 N Ne	braska Ave
BID # 09-0	)47-LR		San D	iego, CA 92131	Tampa, I	FL 33603
		**Board Meeting 10/21/08**				
ITEM#	QTY	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
		MANUFACTURER / PRODUCT #				SCO
NPB14	50	1" PVC PRESSURE TEE SCHEDULE 40	\$0.64	\$32.00	\$0.33	\$16.50
		MANUFACTURER / PRODUCT #	Nibco	HDS#640711	Las	SCO
NPB17	150	3/4" PVC PRESSURE TEE SCHEDULE 40	\$3.50	**\$52.50	\$0.18	\$27.00
		MANUFACTURER / PRODUCT #	Nibco H	HDS#640710 ***	Las	SCO
NPB19	80	1/2" PVC PRESSURE TEE SCHEDULE 40	\$3.30	**\$26.40	\$0.16	\$12.80
		MANUFACTURER / PRODUCT #		HDS#640709***	Las	SCO
NPB23	75	2" PVC PRESSURE 45 SCHEDULE 40		No Bid	\$0.85	\$63.75
		MANUFACTURER / PRODUCT #				SCO
NPB24	20	1-1/2" PVC PRESSURE 45 SCHEDULE 40		No Bid	\$0.66	\$13.20
		MANUFACTURER / PRODUCT #			· ·	SCO
NPB25	20	1-1/4" PVC PRESSURE 45 SCHEDULE 40		No Bid	\$0.51	\$10.20
		MANUFACTURER / PRODUCT #				SCO
NPB26	20	1" PVC PRESSURE 45 SCHEDULE 40	\$0.75	\$15.00	\$0.38	\$7.60
220		MANUFACTURER / PRODUCT #	*	HDS#640719		SCO
NPB27	80	3/4" PVC PRESSURE 45 SCHEDULE 40	\$0.60	\$48.00	\$0.32	\$25.60
		MANUFACTURER / PRODUCT #	¥	HDS#640718	*	SCO
NPB28	20	1/2" PVC PRESSURE 45 SCHEDULE 40	\$0.45	\$9.00	\$0.20	\$4.00
220		MANUFACTURER / PRODUCT #	*	HDS#6407327		sco
NPB29	60	4" PVC PRESSURE 90 SCHEDULE 40	111200	No Bid	\$4.71	\$282.60
220		MANUFACTURER / PRODUCT #			· ·	SCO
NPB30	30	3" PVC PRESSURE 90 SCHEDULE 40		No Bid	\$2.64	\$79.20
		MANUFACTURER / PRODUCT #			· ·	SCO
NPB31	20	2-1/2" PVC PRESSURE 90 SCHEDULE 40		No Bid	\$2.20	\$44.00
		MANUFACTURER / PRODUCT #			Las	SCO
NPB32	150	2" PVC PRESSURE 90 SCHEDULE 40		No Bid	\$0.73	\$109.50
		MANUFACTURER / PRODUCT #			Las	SCO
NPB33	75	1 1/2" PVC PRESSURE 90° ELBOW SCHEDULE 40	\$1.05	\$78.75	\$0.47	\$35.25
		MANUFACTURER / PRODUCT #	Nibco	HDS#640706	Las	SCO
NPB34	80	1-1/4" PVC PRESSURE 90 SCHEDULE 40		No Bid	\$0.44	\$35.20
		MANUFACTURER / PRODUCT #			Las	sco
NPB35	180	1" PVC PRESSURE 90 SCHEDULE 40	\$7.40	\$1,332.00	\$0.25	\$45.00
		MANUFACTURER / PRODUCT #	Orbit	HDS#650045	Las	sco
NPB36	350	3/4" PVC PRESSURE 90 SCHEDULE 40	\$4.50	\$1,575.00	\$0.15	\$52.50
		MANUFACTURER / PRODUCT #	Orbit	HDS#650035	Las	sco
NPB37	250	1/2" PVC PRESSURE 90 SCHEDULE 40	\$3.50	\$875.00	\$0.14	\$35.00
		MANUFACTURER / PRODUCT #	Orbit	HDS#650025	Las	sco
NPB38	30	4" PVC PRESSURE COUPLING SCHEDULE 40		No Bid	\$2.17	\$65.10
		MANUFACTURER / PRODUCT #			Las	SCO
NPB39	60	3" PVC PRESSURE COUPLING SCHEDULE 40		No Bid	\$1.50	\$90.00
		MANUFACTURER / PRODUCT #			Las	sco
NPB40	25	2-1/2" PVC PRESSURE COUPLING SCHEDULE 40		No Bid	\$0.97	\$24.25
		MANUFACTURER / PRODUCT #			Las	sco
NPB41	250	2" PVC PRESSURE COUPLING SCHEDULE 40	\$0.85	\$212.50	\$0.44	\$110.00
		MANUFACTURER / PRODUCT #	Nibco	HDS#640830		SCO
NPB42	90	1-1/2" PVC PRESSURE COUPLING SCHEDULE 40	\$0.50	\$45.00	\$0.29	\$26.10

DATE OF	OPENIN	NG: September 19, 2008 @ 2:30 PM	Best Plumbing	Specialties Inc	Bridgeton Plumbing & F	leating Supply Company	Fer	guson
BID TITLE	: Plumbi	ing Supplies - Maintenance Department	3039 Ver	ntrie Court	8 West Bi	oad Street	10502 Gr	ays Lake Ct
BID # 09-0	47-LR		Myersville	, MD 21773	Bridgeton	, NJ 08302	Tampa,	FL 33626
		**Board Meeting 10/21/08**	,					
ITEM#	QTY	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
		MANUFACTURER / PRODUCT #			NIBCO	401-015	Charlotte	e P40SCJ
NPB43	60	1-1/4" PVC PRESSURE COUPLING SCHEDULE 40	No	Bid	\$0.45	\$27.00	\$0.26	\$15.60
		MANUFACTURER / PRODUCT #			NIBCO	401-012	Charlotte	e P40SCH
NPB44	220	1" PVC PRESSURE COUPLING SCHEDULE 40	No	Bid	\$0.33	\$72.60	\$0.189	\$41.58
		MANUFACTURER / PRODUCT #				401-010	Charlotte	e P40SCG
NPB45	320	3/4" PVC PRESSURE COUPLING SCHEDULE 40	No	Bid	\$0.19	\$60.80	\$0.108	\$34.56
		MANUFACTURER / PRODUCT #				401-007	Charlotte	e P40SCF
NPB46	220	1/2" PVC PRESSURE COUPLING SCHEDULE 40	No	Bid	\$0.14	\$30.80	\$0.079	\$17.38
		MANUFACTURER / PRODUCT #			NIBCO	401-005	Charlotte	e P40SCD
NPB51	30	1-1/2" PVC PRESSURE FEMALE ADP SCHEDULE 40	No	Bid	\$0.61	\$18.30	\$0.348	\$10.44
		MANUFACTURER / PRODUCT #				435-015		e P40SFAJ
NPB53	30	1" PVC PRESSURE FEMALE ADAPTER SCHEDULE 40	No	Bid	\$0.34	\$10.20	\$0.196	\$5.88
		MANUFACTURER / PRODUCT #				435-010		P40SFAG
NPB54	140	3/4" PVC PRESSURE FEMALE ADPT SCHEDULE 40	No	Bid	\$0.30	\$42.00	\$0.169	\$23.66
		MANUFACTURER / PRODUCT #				435-007		e P40SFAF
NPB55	90	1/2" PVC PRESSURE FEMALE ADPT SCHEDULE 40	No	Bid	\$0.24	\$21.60	\$0.132	\$11.88
		MANUFACTURER / PRODUCT #				435-050		e P40SFAD
NPB59	150	2" PVC Press x M.I.P.ADAPTER SCHEDULE 40	No	Bid	\$0.80	\$120.00	\$0.458	\$68.70
		MANUFACTURER / PRODUCT #				436-020		P40SMAK
NPB60	50	1 1/2"" PVC Press x M.I.P.ADAPTER SCHEDULE 40	No	Bid	\$0.61	\$30.50	\$0.348	\$17.40
		MANUFACTURER / PRODUCT #				436-015		e P40SMAJ
NPB61	25	1 1/4" PVC Press x M.I.P. ADAPTER SCHEDULE 40	No	Bid	\$0.45	\$11.25	\$0.26	\$6.50
		MANUFACTURER / PRODUCT #				436-012		P40SMAH
NPB62	175	1 " PVC Press x M.I.P. ADAPTER SCHEDULE 40	No	Bid	\$0.37	\$64.75	\$0.213	\$37.28
		MANUFACTURER / PRODUCT #				436-010		e P40SMA6
NPB63	175	3/4" PVC Press x M.I.P. ADAPTER SCHEDULE 40	No	Bid	\$0.21	\$36.75	\$0.119	\$20.83
		MANUFACTURER / PRODUCT #				436-007		P40SMAF
NPB64	175	1/2" PVC Press x M.I.P. ADAPTER SCHEDULE 40	No	Bid	\$0.19	\$33.25	\$0.108	\$18.90
		MANUFACTURER / PRODUCT #				436-005		P40SMAD
NPB66	30	3" PVC PRESSURE CAP SCHEDULE 40	No	Bid	\$2.21	\$66.30	\$1.274	\$38.22
		MANUFACTURER / PRODUCT #				447-030		P40SCAPM
NPB68	50	2" PVC PRESSURE CAP SCHEDULE 40	No	Bid	\$0.64	\$32.00	\$0.365	\$18.25
		MANUFACTURER / PRODUCT #				447-020		P40SCAPK
NPB69	25	1-1/2" PVC PRESSURE CAP SCHEDULE 40	No	Bid	\$0.53	\$13.25	\$0.304	\$7.60
		MANUFACTURER / PRODUCT #				447-015		P40SCAPJ
NPB71	40	1" PVC PRESSURE CAP SCHEDULE 40	No	Bid	\$0.34	\$13.60	\$0.196	\$7.84
		MANUFACTURER / PRODUCT #				447-010		P40SCAPG
NPB72	120	3/4" PVC PRESSURE CAP SCHEDULE 40	No	Bid	\$0.22	\$26.40	\$0.123	\$14.76
		MANUFACTURER / PRODUCT #				447-007		P40SCAPF
NPB73	100	1/2" PVC PRESSURE CAP SCHEDULE 40	No	Bid	\$0.19	\$19.00	\$0.108	\$10.80
		MANUFACTURER / PRODUCT #				447-005		P40SCAPD
NPB83	20	1-1/2" X 1" PVC PRESSURE BUSH SCHEDULE 40	No	Bid	\$0.56	\$11.20	\$0.321	\$6.42
		MANUFACTURER / PRODUCT #				437-211		e P40SBJG
NPB85	125	1" X 3/4 PVC PRESSURE BUSHING SCHEDULE 40	No	Bid	\$0.40	\$50.00	\$0.224	\$28.00
		MANUFACTURER / PRODUCT #				437-131		P40SBGF
NPB86	20	1" X 1/2" PVC PRESSURE BUSH SCHEDULE 40	No	Bid	\$0.40	\$8.00	\$0.224	\$4.48
		MANUFACTURER / PRODUCT #			NIBCO	437-130	Charlottee	P40SBGD

DATE OF	OPENIN	NG: September 19, 2008 @ 2:30 PM	HD Supply Fac	lities Maintenance, LTD	Warner Plumbing	Supply Co of FL Inc
BID TITLE	: Plumb	ing Supplies - Maintenance Department	10641 S	cripps Summit Ct	5205 N Ne	ebraska Ave
BID # 09-0	)47-LR		San Di	ego, CA 92131	Tampa,	FL 33603
		**Board Meeting 10/21/08**				
ITEM#	QTY	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
		MANUFACTURER / PRODUCT #	Nibco	HDS#640820	La	ISCO
NPB43	60	1-1/4" PVC PRESSURE COUPLING SCHEDULE 40		No Bid	\$0.27	\$16.20
		MANUFACTURER / PRODUCT #			La	ISCO
NPB44	220	1" PVC PRESSURE COUPLING SCHEDULE 40	\$0.35	\$77.00	\$0.20	\$44.00
		MANUFACTURER / PRODUCT #	Nibco	HDS#640721	La	ISCO
NPB45	320	3/4" PVC PRESSURE COUPLING SCHEDULE 40	\$2.10	**\$67.20	\$0.12	\$38.40
		MANUFACTURER / PRODUCT #	Nibco I	HDS#640720***	La	ISCO
NPB46	220	1/2" PVC PRESSURE COUPLING SCHEDULE 40	\$1.60	**\$35.20	\$0.09	\$19.80
		MANUFACTURER / PRODUCT #	Nibco I	HDS#640738***	La	ISCO
NPB51	30	1-1/2" PVC PRESSURE FEMALE ADP SCHEDULE 40		No Bid	\$0.37	\$11.10
		MANUFACTURER / PRODUCT #			La	ISCO
NPB53	30	1" PVC PRESSURE FEMALE ADAPTER SCHEDULE 40	\$0.35	\$10.50	\$0.20	\$6.00
		MANUFACTURER / PRODUCT #	Nibco	HDS#640870	La	ISCO
NPB54	140	3/4" PVC PRESSURE FEMALE ADPT SCHEDULE 40	\$0.30	\$42.00	\$0.18	\$25.20
		MANUFACTURER / PRODUCT #	Nibco	HDS#640798	La	ISCO
NPB55	90	1/2" PVC PRESSURE FEMALE ADPT SCHEDULE 40	\$0.25	\$22.50	\$0.15	\$13.50
		MANUFACTURER / PRODUCT #		HDS#640797		ISCO
NPB59	150	2" PVC Press x M.I.P.ADAPTER SCHEDULE 40		No Bid	\$0.47	\$70.50
		MANUFACTURER / PRODUCT #				ISCO
NPB60	50	1 1/2"" PVC Press x M.I.P.ADAPTER SCHEDULE 40		No Bid	\$0.37	\$18.50
200		MANUFACTURER / PRODUCT #				ISCO
NPB61	25	1 1/4" PVC Press x M.I.P. ADAPTER SCHEDULE 40		No Bid	\$0.27	\$6.75
		MANUFACTURER / PRODUCT #			· ·	ISCO
NPB62	175	1 " PVC Press x M.I.P. ADAPTER SCHEDULE 40	\$0.35	\$61.25	\$0.23	\$40.25
		MANUFACTURER / PRODUCT #	*	HDS#640870		ISCO
NPB63	175	3/4" PVC Press x M.I.P. ADAPTER SCHEDULE 40	\$0.30	\$52.50	\$0.13	\$22.75
		MANUFACTURER / PRODUCT #	· ·	HDS#640798		ISCO
NPB64	175	1/2" PVC Press x M.I.P. ADAPTER SCHEDULE 40	\$0.25	\$43.75	\$0.12	\$21.00
111 00-1	170	MANUFACTURER / PRODUCT #		HDS#640797		ISCO
NPB66	30	3" PVC PRESSURE CAP SCHEDULE 40	141000	No Bid	\$1.30	\$39.00
111 000	00	MANUFACTURER / PRODUCT #		140 Bid	· ·	ISCO
NPB68	50	2" PVC PRESSURE CAP SCHEDULE 40		No Bid	\$0.39	\$19.50
111 000	- 00	MANUFACTURER / PRODUCT #		140 Did	·	ISCO
NPB69	25	1-1/2" PVC PRESSURE CAP SCHEDULE 40		No Bid	\$0.32	\$8.00
INI DOS	23	MANUFACTURER / PRODUCT #		NO DIG		ISCO
NPB71	40	1" PVC PRESSURE CAP SCHEDULE 40	\$0.35	\$14.00	\$0.20	\$8.00
INF D/ I	40	MANUFACTURER / PRODUCT #		HDS#640729		·
NDDZO	400	3/4" PVC PRESSURE CAP SCHEDULE 40				SCO #45.60
NPB72	120		\$0.25	\$30.00	\$0.13	\$15.60
NPB73	100	MANUFACTURER / PRODUCT # 1/2" PVC PRESSURE CAP SCHEDULE 40		HDS#640801		SCO \$12.00
INFD/3	100		\$0.20	\$20.00	\$0.12	\$12.00
NPB83	20	MANUFACTURER / PRODUCT # 1-1/2" X 1" PVC PRESSURE BUSH SCHEDULE 40	INIDCO	HDS#640800		\$6.60
INPBØ3	20			No Bid	\$0.33	· · · · · · · · · · · · · · · · · · ·
NDDos	405	MANUFACTURER / PRODUCT #	CO 45	<b>#</b> FO OF		\$CO
NPB85	125	1" X 3/4 PVC PRESSURE BUSHING SCHEDULE 40	\$0.45	\$56.25	\$0.24	\$30.00
NDDOC	00	MANUFACTURER / PRODUCT #		HDS#640951	-	ISCO #4.00
NPB86	20	1" X 1/2" PVC PRESSURE BUSH SCHEDULE 40	\$0.50	\$10.00	\$0.24	\$4.80
		MANUFACTURER / PRODUCT #	Nibco	HDS#640701	La	ISCO

DATE OF	OPENIN	G: September 19, 2008 @ 2:30 PM	Best Plumbing	Specialties Inc	Bridgeton Plumbing & F	leating Supply Company	Fer	guson
BID TITLE	: Plumbir	ng Supplies - Maintenance Department	3039 Ver	ntrie Court	8 West Br	oad Street	10502 Gr	ays Lake Ct
BID # 09-0	)47-LR		Myersville	, MD 21773	Bridgeton,	NJ 08302	Tampa,	FL 33626
		**Board Meeting 10/21/08**						
ITEM#	QTY	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
NPB87	100	3/4" X 1/2" PVC PRESSURE BUSH SCHEDULE 40	No	Bid	\$0.22	\$22.00	\$0.123 \$12.30	
		MANUFACTURER / PRODUCT #			NIBCO	437-101	Charlotte	e P40SBFD
NPB88	20	1" X 3/4" PVC PRESS X F BUSH SCHEDULE 40	No	Bid	\$0.56	\$11.20	\$0.317	\$6.34
		MANUFACTURER / PRODUCT #			NIBCO	438-131	Charlottee	P40SFBGF
NPD17	60	1/2" COPPER TEE	No	Bid	\$0.55	\$33.00	\$0.681	\$40.86
		MANUFACTURER / PRODUCT #			CELLO	WPT-08	Elkha	art CTD
NPD18	25	1/4" COPPER TEE	No	Bid	\$2.28	\$57.00	\$2.636	\$65.90
		MANUFACTURER / PRODUCT #			CELLO WPT-04		Elkha	art CTB
NPD24	40	1" COPPER 90 DEGREE ELBOW	No	Bid	\$1.66	\$66.40	\$2.192	\$87.68
		MANUFACTURER / PRODUCT #			CELLO	WP7-16	Elkha	art C96
NPD25	100	3/4" COPPER 90	No	Bid	\$0.72	\$72.00	\$0.892	\$89.20
		MANUFACTURER / PRODUCT #				WP7-12		art C9F
NPD26	200	1/2" COPPER 90 DEGREE ELBOW	No	Bid	\$0.31	\$62.00	\$0.398	\$79.60
		MANUFACTURER / PRODUCT #			CELLO	WP7-08		art C9D
NPD30	50	3/4" COPPER STREET 90	No	Bid	\$0.98	\$49.00	\$1.288	\$64.40
		MANUFACTURER / PRODUCT #			CELLO V	VP7-2-12	Elkha	rt CS9F
NPD31	50	1/2" COPPER STREET 90	No	Bid	\$0.47	\$23.50	\$0.61	\$30.50
		MANUFACTURER / PRODUCT #			CELLO V	VP7-2-08	Elkha	rt CS9D
NPD44	25	1/2"COPPER ST. 45 DEGREE ELBOW	No	Bid	\$0.67	\$16.75	\$0.874	\$21.85
		MANUFACTURER / PRODUCT #			CELLO V	VP6-2-08	Elkha	rt CS4D
NPD55	6	COPPER REPAIR COUPLING LESS STOPS 3"	No	Bid	\$10.96	\$65.76	\$15.405	\$92.43
		MANUFACTURER / PRODUCT #			CELLO WPO	)-NSTOP-48	Elkhai	t CSCM
NPD61	30	3/4" COPPER REPAIR COUPLING	No	Bid	\$0.67	\$20.10	\$0.828	**\$24.83
		MANUFACTURER / PRODUCT #			CELLO WPO	)-NSTOP-12	Elkha	rt CSCF
NPD66	15	1 1/2" COPPER x M.I.P. ADAPTER	No	Bid	\$4.37	\$65.55	\$6.141	\$92.12
		MANUFACTURER / PRODUCT #			CELLO	WP4-24	Elkha	rt CMAJ
NPD67	8	1 1/4" COPPER x M.I.P. ADAPTER	No	Bid	\$3.81	\$30.48	\$5.348	\$42.78
		MANUFACTURER / PRODUCT #			CELLO	WP4-20	Elkhai	t CMAH
NPD69	80	3/4" COPPER X MALE ADAPTER	No	Bid	\$0.98	\$78.40	\$1.398	\$111.84
		MANUFACTURER / PRODUCT #			CELLO	WP4-12	Elkha	rt CMAF
NPD70	60	1/2" COPPER X MALE ADAPTER	No	Bid	\$0.63	\$37.80	\$0.833	\$49.98
		MANUFACTURER / PRODUCT #			CELLO	WP4-08	Elkhai	t CMAD
NPD79	50	3/4" COPPER X FEMALE ADAPTER	No	Bid	\$1.30	\$65.00	\$1.815	\$90.75
		MANUFACTURER / PRODUCT #			CELLO	WP3-12	Elkha	rt CFAF
NPD80	40	1/2" COPPER x F.I.P. ADAPTER	No	Bid	\$0.99	\$39.60	\$1.323	\$52.92
		MANUFACTURER / PRODUCT #			CELLO	WP3-08	Elkha	rt CFAD
NPE04	10	1" COPPER SWEAT X SWEAT UNION	No	Bid	\$6.26	\$62.60	\$8.795	\$87.95
		MANUFACTURER / PRODUCT #			CELLO \	NP33-16	Elkha	rt CVG
NPE05	15	3/4" COPPER SWEAT X SWEAT UNION	No	Bid	\$3.56	\$53.40	\$5.00	\$75.00
·		MANUFACTURER / PRODUCT #			CELLO \	NP33-12	1	art CVF
NPE06	25	1/2" COPPER SWEAT X SWEAT UNION	No	Bid	\$2.94	\$73.50	\$3.986	\$99.65
		MANUFACTURER / PRODUCT #			CELLO \	NP33-08		art CVD
NPE28	100	1/2" COPPER TWO HOLE STRAP	No	Bid	\$0.16	\$16.00	\$0.034	\$3.40
		MANUFACTURER / PRODUCT #			GREENF	IELD 503	Proflo	PF500D
NPE29	60	3/4" COPPER 2 HOLE STRAPS	No	Bid	\$0.19	\$11.40	\$0.034	\$2.04
1		MANUFACTURER / PRODUCT #			GREENF	IELD 503	Proflo	PF500F

DATE OF	OPENIN	G: September 19, 2008 @ 2:30 PM	HD Supply Fac	cilities Maintenance, LTD	Warner Plumbing S	Supply Co of FL Inc
BID TITLE	: Plumbii	ng Supplies - Maintenance Department	10641 S	Scripps Summit Ct	5205 N Ne	braska Ave
BID # 09-0	047-LR		San D	Diego, CA 92131	Tampa, I	FL 33603
		**Board Meeting 10/21/08**				
ITEM#	QTY	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
NPB87	100	3/4" X 1/2" PVC PRESSURE BUSH SCHEDULE 40	\$0.25	\$25.00	\$0.13	\$13.00
		MANUFACTURER / PRODUCT #	Nibco	HDS#640702	Las	sco
NPB88	20	1" X 3/4" PVC PRESS X F BUSH SCHEDULE 40	\$0.70	\$14.00	\$0.33	\$6.60
		MANUFACTURER / PRODUCT #	Nibco	HDS#640941	Las	SCO
NPD17	60	1/2" COPPER TEE	\$7.90	**\$47.40	\$0.84	\$50.40
		MANUFACTURER / PRODUCT #	Nibco	HDS#500907***	Nik	осо
NPD18	25	1/4" COPPER TEE		No Bid	\$3.24	\$81.00
		MANUFACTURER / PRODUCT #			Nik	осо
NPD24	40	1" COPPER 90 DEGREE ELBOW	\$2.70	\$108.00	\$2.70	\$108.00
		MANUFACTURER / PRODUCT #	Nibco	D HDS#640752	Nik	осо
NPD25	100	3/4" COPPER 90	\$10.40	**\$104.00	\$1.11	\$111.00
		MANUFACTURER / PRODUCT #	Nibco	HDS#500883***	Nik	осо
NPD26	200	1/2" COPPER 90 DEGREE ELBOW	\$5.10	**\$102.00	\$0.50	\$100.00
		MANUFACTURER / PRODUCT #	Nibco	HDS#640783***	Nik	oco
NPD30	50	3/4" COPPER STREET 90	\$1.70	**\$34.00	\$1.59	\$79.50
		MANUFACTURER / PRODUCT #	Nibco #C6072	3/4-314086 HDS#640786	Nik	oco
NPD31	50	1/2" COPPER STREET 90	\$7.60	**\$38.00	\$0.76	\$38.00
		MANUFACTURER / PRODUCT #	Nibco #CP6072 1	/2-001894 HDS#640753**	Nik	OCO
NPD44	25	1/2"COPPER ST. 45 DEGREE ELBOW	\$0.90	\$22.50	\$1.09	\$27.25
		MANUFACTURER / PRODUCT #	Nibco #C6062	1/2-311948 HDS3640781	Nik	oco
NPD55	6	COPPER REPAIR COUPLING LESS STOPS 3"		No Bid	\$18.92	\$113.52
		MANUFACTURER / PRODUCT #			Nik	oco
NPD61	30	3/4" COPPER REPAIR COUPLING		No Bid	\$1.02	\$30.60
		MANUFACTURER / PRODUCT #			Nik	oco
NPD66	15	1 1/2" COPPER x M.I.P. ADAPTER		No Bid	\$7.55	\$113.25
		MANUFACTURER / PRODUCT #			Nik	осо
NPD67	8	1 1/4" COPPER x M.I.P. ADAPTER		No Bid	\$6.57	\$52.56
		MANUFACTURER / PRODUCT #			Nik	осо
NPD69	80	3/4" COPPER X MALE ADAPTER	\$17.40	**\$139.20	\$1.72	\$137.60
		MANUFACTURER / PRODUCT #	Nibco	HDS#640772***	Nik	осо
NPD70	60	1/2" COPPER X MALE ADAPTER	\$9.60	**\$57.60	\$1.03	\$61.80
		MANUFACTURER / PRODUCT #	Nibco	HDS#500935***	Nik	осо
NPD79	50	3/4" COPPER X FEMALE ADAPTER	\$2.10	\$105.00	\$2.24	\$112.00
		MANUFACTURER / PRODUCT #	Nibco	D HDS#640668	Nik	осо
NPD80	40	1/2" COPPER x F.I.P. ADAPTER	\$14.80	**\$59.20	\$1.63	\$65.20
		MANUFACTURER / PRODUCT #	Nibco	HDS#500949***	Nik	OCO
NPE04	10	1" COPPER SWEAT X SWEAT UNION	\$11.50	\$115.00	\$12.12	\$121.20
		MANUFACTURER / PRODUCT #	Nibco	HDS#640961	Nik	DCO
NPE05	15	3/4" COPPER SWEAT X SWEAT UNION	\$5.80	\$87.00	\$7.05	\$105.75
		MANUFACTURER / PRODUCT #	Nibco	HDS#640963	Nit	DCO
NPE06	25	1/2" COPPER SWEAT X SWEAT UNION	\$5.20	\$130.00	\$5.63	\$140.75
		MANUFACTURER / PRODUCT #	Nibco	HDS#640962	Nit	DCO
NPE28	100	1/2" COPPER TWO HOLE STRAP	\$1.40	**\$28.00	\$0.29	\$29.00
		MANUFACTURER / PRODUCT #	Nibco	HDS#500997***	Nik	000
NPE29	60	3/4" COPPER 2 HOLE STRAPS	\$1.50	**\$18.00	\$0.47	\$28.20
ſ		MANUFACTURER / PRODUCT #		HDS#800891***	Nik	oco

DATE OF	OPENII	NG: September 19, 2008 @ 2:30 PM	Best Plumbing	Specialties Inc	Bridgeton Plumbing & F	leating Supply Company	Fer	guson
BID TITLE	: Plumb	oing Supplies - Maintenance Department	3039 Ver	trie Court	8 West Br	oad Street	10502 Gr	ays Lake Ct
BID # 09-0	47-LR		Myersville,	MD 21773	Bridgeton.	NJ 08302	Tampa,	FL 33626
		**Board Meeting 10/21/08**	, , , , , , , , , , , , , , , , , , , ,	-	3			
ITEM#	QTY	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
NPE73	120	1/4" BRASS FERRULE	\$0.06	\$7.20	\$0.045	\$5.40	\$0.027	\$3.24
		MANUFACTURER / PRODUCT #	Holyok	e 60-4	BRASSCR	AFT 60-1/4	Proflo	PFCSB
NPE73A	50	3/8" BRASS FERRULE	\$0.07	\$3.50	\$0.07	\$3.50	\$0.053	\$2.65
		MANUFACTURER / PRODUCT #	Holyok	e 60-6	BRASSCR	AFT 60-3/8	Proflo	PFCSC
NPE74	25	1/4" COMPRESSION NUT	\$0.14	\$3.50	\$0.1650	\$4.13	\$0.133	\$3.33
		MANUFACTURER / PRODUCT #	Holyoke 61-4		BRASSCR	AFT 61-1/4	Proflo	PFCNB
NPE74A	70	3/8" CHROME COMPRESSION NUT	\$0.26	\$18.20	\$0.28	\$19.60	\$0.213	\$14.91
		MANUFACTURER / PRODUCT #	Holyoke	e 61-8-6	BRASSCRA	FT 61CP-3/8	Proflo	PFCNC
NPE75	120	1/4" BRASS NOSE CONE	No	Bid	\$0.85	\$102.00	0.547	\$65.64
		MANUFACTURER / PRODUCT #			WALRICH	1 0223002	Proflo	PFLNPC
NPI37	50	2" CAST IRON NO HUB BAND	No	Bid	\$2.71	\$135.50	2.238	\$111.90
		MANUFACTURER / PRODUCT #			MISSION	RUBBER	Proflo	PFNHCK
NPI55	24	4 oz. CAN TEFLON PIPE DOPE	No	Bid	\$4.55	\$109.20	3.575	\$85.80
		MANUFACTURER / PRODUCT #			HERCULI	ES 15-804	Oatey	031230
NPI61	90	PLUNGER DUAL FORCE CAP KORKY 93-8	No	Bid	\$3.74	\$336.60	\$4.00	\$360.00
		MANUFACTURER / PRODUCT #			KORK	Y 93-8	Lave	lle L938
NPI63	150	OATEY QUART PVC BLUE GLUE WET & DRY	No	Bid	\$8.61	\$1,291.50	\$6.732	\$1,009.80
		MANUFACTURER / PRODUCT #			OATE	7 30894	Oatey	030894
NPI65	50	OATEY QUART CAN PURPLE PVC PRIMER	No	Bid	\$7.72	\$386.00	\$5.196	\$259.80
		MANUFACTURER / PRODUCT #			OATE	7 30758	Oatey	030806
NPI66	50	OATEY QUART CAN PVC CLEANER	No	Bid	\$7.38	\$369.00	\$4.01	\$200.50
		MANUFACTURER / PRODUCT #			OATE	7 30805	Oatey	030805
NPI67	100	OATEY QUART CAN PVC CEMENT	No	Bid	\$6.32	\$632.00	\$4.876	\$487.60
		MANUFACTURER / PRODUCT #			OATE	7 31015	Oatey	031928
NPI68	12	OATEY PINT SOLDERING FLUX	No	Bid	\$7.25	\$87.00	\$3.598	\$43.18
		MANUFACTURER / PRODUCT #			OATE	/ 10621	Oatey	030041
NPI83	125	TEFLON TAPE 1/2 X 520' ROLL	\$0.24	\$30.00	\$0.31	\$38.75	\$0.235	\$29.38
		MANUFACTURER / PRODUCT #	EZ Flo	50013	GREAT AME	RICAN TAPE	Proflo F	STTD520
NPI85	30	WHITE GROUT 5# CONTAINER NON-SANDED	No	Bid	\$12.20	\$366.00	\$9.37	**\$140.55
		MANUFACTURER / PRODUCT #			MCMASTER-C	ARR 77105T64	Bons	al TG10
NPJ01	30	1 1/2" 17 GAUGE CHROME P-TRAP	No	Bid	\$10.98	\$329.40	\$13.905	\$417.15
		MANUFACTURER / PRODUCT #			PASCO	34110	Proflo	PF8620J
NPJ02	50	1 1/4" 17 GAUGE CHROME P-TRAP	No	Bid	\$9.11	\$455.50	\$16.118	\$805.90
		MANUFACTURER / PRODUCT #			PASCO	34106	Proflo	PF8872
NPJ03	75	1 1/2" PVC MASTER TRAP WITH ADAPTER	No	Bid	\$1.16	\$87.00	\$0.832	\$62.40
		MANUFACTURER / PRODUCT #			CS &	B 514	Proflo F	PF39400B
NPJ04B	30	1 1/4" PVC MASTER TRAP WITH ADAPTER	No	Bid	\$1.87	\$56.10	\$1.232	\$36.96
		MANUFACTURER / PRODUCT #			CS &	B 711	Proflo	PF39200
NPJ16	50	KITCHEN SINK GRID DRAIN DEARBORN BRASS	No	Bid	\$5.19	\$259.50	\$6.442	\$322.10
		MANUFACTURER / PRODUCT #			WALRICH	0513002	Proflo	PF155A
NPJ18	50	SPIN-N-GRIN BASKET STRAINER TWIST LOCK	No	Bid	\$7.23	\$361.50	\$2.726	\$136.30
		MANUFACTURER / PRODUCT #			PASCO	21917	Proflo F	PF1431SS
		JR. DUO BAR SINK STRAINER PRO PLUS 122070 FLAT						
NPJ20	50	TOP	No	Bid	\$3.20	\$160.00	\$2.40	\$120.00
		MANUFACTURER / PRODUCT #			PASC	O 1371	Proflo	PF83SS
NPJ21	15	1 1/2" x 16" PVC END OUTLET WASTE	No	Bid	\$3.49	\$52.35	\$2.063	\$30.95

DATE OF	OPENII	NG: September 19, 2008 @ 2:30 PM	HD Supply Fac	ilities Maintenance, LTD	Warner Plumbing	Supply Co of FL Inc
BID TITLE	: Plumb	oing Supplies - Maintenance Department	10641 S	cripps Summit Ct	5205 N Ne	ebraska Ave
BID # 09-0	47-LR		San D	iego, CA 92131	Tampa.	FL 33603
		**Board Meeting 10/21/08**				
ITEM#	QTY	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
NPE73	120	1/4" BRASS FERRULE	OTTI THOE	No Bid	\$0.06	\$7.20
		MANUFACTURER / PRODUCT #			·	CR
NPE73A	50	3/8" BRASS FERRULE		No Bid	\$0.08	\$4.00
		MANUFACTURER / PRODUCT #			A	CR
NPE74	25	1/4" COMPRESSION NUT	\$4.00	**\$4.00	\$0.20	\$5.00
		MANUFACTURER / PRODUCT #	Watts Ande	rson HDS#546911***	· ·	CR
NPE74A	70	3/8" CHROME COMPRESSION NUT	\$3.00	**\$21.00	\$0.29	\$20.30
		MANUFACTURER / PRODUCT #	· ·	rson HDS#546921***	·	CR
NPE75	120	1/4" BRASS NOSE CONE		No Bid	\$0.61	\$73.20
	1-0	MANUFACTURER / PRODUCT #			·	CR
NPI37	50	2" CAST IRON NO HUB BAND		No Bid	\$2.32	\$116.00
		MANUFACTURER / PRODUCT #			·	rnco
NPI55	24	4 oz. CAN TEFLON PIPE DOPE		No Bid	\$3.91	\$93.84
		MANUFACTURER / PRODUCT #			*	31230
NPI61	90	PLUNGER DUAL FORCE CAP KORKY 93-8		No Bid	\$3.39	\$305.10
		MANUFACTURER / PRODUCT #		110 2.0		orky
NPI63	150	OATEY QUART PVC BLUE GLUE WET & DRY	\$6.50	\$975.00	\$8.00	\$1,200.00
		MANUFACTURER / PRODUCT #		/ HDS#401345	The second secon	tev
NPI65	50	OATEY QUART CAN PURPLE PVC PRIMER	\$6.10	\$305.00	\$6.23	\$311.50
111 100	- 00	MANUFACTURER / PRODUCT #		/ HDS#401350	· ·	tev
NPI66	50	OATEY QUART CAN PVC CLEANER		No Bid	\$4.75	\$237.50
		MANUFACTURER / PRODUCT #			· ·	tev
NPI67	100	OATEY QUART CAN PVC CEMENT	\$4.60	\$460.00	\$5.80	\$580.00
		MANUFACTURER / PRODUCT #		/ HDS#401340		tev
NPI68	12	OATEY PINT SOLDERING FLUX		No Bid	\$4.53	\$54.36
		MANUFACTURER / PRODUCT #			· ·	tev
NPI83	125	TEFLON TAPE 1/2 X 520' ROLL	\$5.20	**\$62.40	\$0.46	\$57.50
		MANUFACTURER / PRODUCT #	· ·	vey HDS#401605***		tev
NPI85	30	WHITE GROUT 5# CONTAINER NON-SANDED	\$3.80	\$114.00	\$6.25	\$187.50
		MANUFACTURER / PRODUCT #		illding HDS#106755	·	culeys
NPJ01	30	1 1/2" 17 GAUGE CHROME P-TRAP	\$9.50	\$285.00	\$10.50	\$315.00
		MANUFACTURER / PRODUCT #		mbing HDS#554775		rborn
NPJ02	50	1 1/4" 17 GAUGE CHROME P-TRAP	\$10.34	**\$516.95	\$8.59	\$429.50
		MANUFACTURER / PRODUCT #	CS&B Plui	mbing HDS#554925		rborn
NPJ03	75	1 1/2" PVC MASTER TRAP WITH ADAPTER		No Bid	\$0.86	\$64.50
		MANUFACTURER / PRODUCT #			· ·	rborn
NPJ04B	30	1 1/4" PVC MASTER TRAP WITH ADAPTER		No Bid	\$1.20	\$36.00
		MANUFACTURER / PRODUCT #				ırborn
NPJ16	50	KITCHEN SINK GRID DRAIN DEARBORN BRASS		No Bid	\$4.39	\$219.50
		MANUFACTURER / PRODUCT #				ırborn
NPJ18	50	SPIN-N-GRIN BASKET STRAINER TWIST LOCK	\$11.50	\$575.00	\$8.03	\$401.50
		MANUFACTURER / PRODUCT #		onal #30021 HDS#409530	· ·	rborn
		JR. DUO BAR SINK STRAINER PRO PLUS 122070 FLAT			300	
NPJ20	50	TOP		No Bid	\$3.25	\$162.50
		MANUFACTURER / PRODUCT #		·		rborn
NPJ21	15	1 1/2" x 16" PVC END OUTLET WASTE		No Bid	\$2.69	\$40.35

DATE OF	OPENI	NG: September 19, 2008 @ 2:30 PM	Best Plumbing	Specialties Inc	Bridgeton Plumbing & F	leating Supply Company	Fei	guson
BID TITI F	: Plumb	oing Supplies - Maintenance Department	3039 Ver	ntrie Court	8 West Br	oad Street	10502 G	rays Lake Ct
BID # 09-0		The state of the s		MD 21773		NJ 08302		, FL 33626
# U3-0	/4 <i>1</i> -LIX	**Board Meeting 10/21/08**	iviyersville,	IVID 21773	Dilageton	110 00302	Тапра	, 1 L 33020
ITEM#	QTY	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	LINIT DDICE	TOTAL PRICE
I I EIVI#	QII	MANUFACTURER / PRODUCT #	UNITERICE	TOTAL PRICE		3 51265		PF39344
NPJ22	10	2" CHROME SLIP NUT	No	Bid	\$1.65	\$16.50	\$0.652	\$6.52
INI UZZ	10	MANUFACTURER / PRODUCT #	140	Did		1334-C		W1074103
NPJ25	40	1 1/4" CHROME SLIP NUT	No	Bid	\$0.69	**\$27.50	\$0.284	\$11.36
141 020	70	MANUFACTURER / PRODUCT #	140	Did	· ·	1330-C	+	PFSNH
NPJ35	25	3/8" x 12" CHROME CLOSET SUPPLY	No	Bid	\$1.73	\$43.25	\$2.023	\$50.58
141 000	23	MANUFACTURER / PRODUCT #	INO	Diu .	· ·	N 25698		aft B112DLC
NPJ35	25	3/8" X 12" TANK SUPPLY CHROME	No	Bid	\$1.73	\$43.25	\$2.023	\$50.58
INFUSS	20	MANUFACTURER / PRODUCT #	INO	ый		AN 25698	¥	aft B112DLC
NPJ36	100	3/8" x 12" CHROME LAV SUPPLY	No	Pid	\$1.73	\$173.00	\$1.807	\$180.70
INFJOO	100	MANUFACTURER / PRODUCT #	INO	DIU		AN 25695		raft B112AC
NPJ36A	125	3/8" x 20" CHROME LAV SUPPLY	No	Bid	\$2.11	\$263.75	\$2.455	\$306.88
INFJSOA	123	MANUFACTURER / PRODUCT #	INO	DIU	-	N 25696		raft B120AC
NPJ48	10	1 1/2" x 16" CHROME SLIP JOINT EXT. TUBE	No	Did	\$10.22	\$102.20	\$1,232	\$12.32
INPJ48	10		INO	ыи	· ·	•	+ -	PF39604
ND IC4	40	MANUFACTURER / PRODUCT # 1 1/2" x 8"CHROME FLANGED TAILPIECE	NI.	Did		0 34396		
NPJ54	40		INO	Bid	\$4.73	\$189.20	\$3.537	\$141.48
		MANUFACTURER / PRODUCT #			PASCO	34352	Profio	PF212PC
NPJ57	20	AMERICAN STANDARD SMART VALVE 2000 BALLCOCK	No	Bid	No	Bid	\$9.16	**\$183.22
141 007	20	MANUFACTURER / PRODUCT #	140	Did	140	Dia .		er FPRO45B
NPJ57A	60	PVC BALL COCK SMART VALVE FLUIDMASTER PRO 45	\$6.78	\$406.80	No	Bid	\$5.684	\$341.04
111 00771	- 00	MANUFACTURER / PRODUCT #	· ·	ter PR045	110	Dia		ster FRP045
		WWW. COLONERY FRODUCT II	Traidinas	101111040			Tididillac	1011111040
NPJ60	6	PVC DOUGLASS FLUSH VALVE PLUMBEST #C05-070	\$3.14	\$18.84	\$3.87	\$23.22	\$2.105	\$12.63
	-	MANUFACTURER / PRODUCT #		ens C05-070	Ŧ	T C05-070	*	PF210420
NPJ68	240	WAX BOWL RING INDIVIDUALLY PACKAGED	\$0.60	\$144.00	\$0.81	\$194.40	\$0.495	\$118.80
		MANUFACTURER / PRODUCT #		007170	· ·	S 90-210	Profi	o PFWR
NPJ69A	25	YELLOW SOFT FOAM URINAL GASKET	•	Bid	\$1.84	\$46.00	\$6.948	\$173.70
		MANUFACTURER / PRODUCT #			WILLIAM HA	RVEY 070090		y 043541
NPJ76A	90	SET WHITE CLOSET BOWL CAPS	\$0.11	\$9.90	\$0.73	\$65.70	\$0.316	\$28.44
		MANUFACTURER / PRODUCT #		40035	•	H 1348003		PFBC43
NPJ84	100	KORKY FLAPPER 54BP	\$1.72	\$172.00	\$1.89	\$189.00	\$1.525	\$152.50
		MANUFACTURER / PRODUCT #	Lavelle	e 54BP	KORK			le L54BP
NPJ85	40	TANK LEVER FLUSH HANDLE DELUXE		Bid	\$1.96	\$78.40	\$1.79	\$71.60
		MANUFACTURER / PRODUCT #	, 10	-	+	AN 40067	* -	PFTLCPPK
NPJ90	300	SLOAN V551-A VACUUM BOOT	\$1.13	\$339.00	\$1.78	\$534.00	\$1.988	\$596.40
		MANUFACTURER / PRODUCT #		3323192	'	I V551A		S3323192
NPJ96	50	1 1/2" SPUD GASKET ONLY	\$0.16	Φο οο	\$0.42	\$21.00	\$0.80	\$40.00
		MANUFACTURER / PRODUCT #		W-321		O 2088		PF40480PK
NPK02	100	1 1/2" SPUD COMPLETE	\$4.16	\$416.00	\$4.37	\$437.00	\$3.621	\$362.10
		MANUFACTURER / PRODUCT #		on CS04		O 959	+	o PF103
NPK03	10	1 1/4" SPUD COMPLETE	\$3.57	\$35.70	\$3.88	\$38.80	\$3.495	\$34.95
1100		MANUFACTURER / PRODUCT #		on CS02	· ·	O 960		o PF108
NPK06	20	1" x 3/4" SPUD COMPLETE	\$2.79	\$55.80	\$2.63	\$52.60	\$2.948	\$58.96
		MANUFACTURER / PRODUCT #		on CS03		O 961		o PF105
NPK25	50	SLOAN 1 1/2" CHROME SPUD COUPLING #5-AT	\$7.95	\$397.50	\$9.29	\$464.50	\$9.774	\$488.70
			ŢUU	7	Ţ <b>-</b> 0	Ţ :=	, <del>, ,</del>	Ţ <b>J.</b>

DATE OF	OPENII	NG: September 19, 2008 @ 2:30 PM	HD Supply Fac	cilities Maintenance, LTD	Warner Plumbing S	Supply Co of FL Inc
BID TITLE	: Plumb	oing Supplies - Maintenance Department	10641 S	cripps Summit Ct	5205 N Ne	braska Ave
BID # 09-0		,	San D	iego, CA 92131	Tampa.	FL 33603
		**Board Meeting 10/21/08**				
ITEM#	QTY	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
		MANUFACTURER / PRODUCT #				rborn
NPJ22	10	2" CHROME SLIP NUT		No Bid	\$1.06	\$10.60
		MANUFACTURER / PRODUCT #			Dea	rborn
NPJ25	40	1 1/4" CHROME SLIP NUT	\$6.50	**\$26.00	\$0.37	\$14.80
		MANUFACTURER / PRODUCT #	Watts Regu	lator HDS#561400***	Dea	rborn
NPJ35	25	3/8" x 12" CHROME CLOSET SUPPLY		No Bid	\$2.43	\$60.75
		MANUFACTURER / PRODUCT #			Dea	rborn
NPJ35	25	3/8" X 12" TANK SUPPLY CHROME		No Bid	\$2.43	\$60.75
		MANUFACTURER / PRODUCT #			Dea	rborn
NPJ36	100	3/8" x 12" CHROME LAV SUPPLY		No Bid	\$2.45	\$245.00
		MANUFACTURER / PRODUCT #			Dea	rborn
NPJ36A	125	3/8" x 20" CHROME LAV SUPPLY		No Bid	\$3.52	\$440.00
		MANUFACTURER / PRODUCT #			Dea	rborn
NPJ48	10	1 1/2" x 16" CHROME SLIP JOINT EXT. TUBE		No Bid	\$6.49	\$64.90
		MANUFACTURER / PRODUCT #			Dea	rborn
NPJ54	40	1 1/2" x 8"CHROME FLANGED TAILPIECE		No Bid	\$8.05	\$322.00
		MANUFACTURER / PRODUCT #			Dea	rborn
NPJ57	20	AMERICAN STANDARD SMART VALVE 2000 BALLCOCK		No Bid	\$7.29	\$145.80
		MANUFACTURER / PRODUCT #			Americ	can Std
NPJ57A	60	PVC BALL COCK SMART VALVE FLUIDMASTER PRO 45	\$5.72	**\$343.39	\$6.71	\$402.60
		MANUFACTURER / PRODUCT #	Fluidma	ster HDS#575250	Fluidr	naster
NPJ60	6	PVC DOUGLASS FLUSH VALVE PLUMBEST #C05-070		No Bid	\$2.06	\$12.36
		MANUFACTURER / PRODUCT #				rborn
NPJ68	240	WAX BOWL RING INDIVIDUALLY PACKAGED	\$3.20	\$768.00	\$0.86	\$206.40
		MANUFACTURER / PRODUCT #	William Ha	arvey HDS#569286		ntey
NPJ69A	25	YELLOW SOFT FOAM URINAL GASKET		No Bid	\$0.40	\$10.00
		MANUFACTURER / PRODUCT #			Oa	itey
NPJ76A	90	SET WHITE CLOSET BOWL CAPS	\$3.00	**\$12.00	\$0.69	\$62.10
		MANUFACTURER / PRODUCT #	EZ Flo Internation	al #91043 HDS#567000**	Bar	nett
NPJ84	100	KORKY FLAPPER 54BP	\$1.80	\$180.00	\$1.95	\$195.00
		MANUFACTURER / PRODUCT #	Korky #5	54X HDS#579705	Ko	rky
NPJ85	40	TANK LEVER FLUSH HANDLE DELUXE	\$2.40	**\$48.00/\$96.00	\$5.69	\$227.60
		MANUFACTURER / PRODUCT #	Villiam Harvey Co	#091002 HDS#569450**	Bar	nett
NPJ90	300	SLOAN V551-A VACUUM BOOT	-	No Bid	\$1.89	\$567.00
		MANUFACTURER / PRODUCT #			Slo	oan
NPJ96	50	1 1/2" SPUD GASKET ONLY		No Bid	\$0.43	\$21.50
		MANUFACTURER / PRODUCT #			Mid	land
NPK02	100	1 1/2" SPUD COMPLETE		No Bid	\$4.06	\$406.00
		MANUFACTURER / PRODUCT #			Mid	land
NPK03	10	1 1/4" SPUD COMPLETE		No Bid	\$4.12	\$41.20
		MANUFACTURER / PRODUCT #			Mid	land
NPK06	20	1" x 3/4" SPUD COMPLETE		No Bid	\$2.89	\$57.80
		MANUFACTURER / PRODUCT #			Mid	land
NPK25	50	SLOAN 1 1/2" CHROME SPUD COUPLING #5-AT		No Bid	\$8.31	\$415.50

DATE OF	OPENII	NG: September 19, 2008 @ 2:30 PM	Best Plumbing	Specialties Inc	Bridgeton Plumbing & F	Heating Supply Company	Fer	guson
BID TITLE	: Plumb	ing Supplies - Maintenance Department	3039 Vei	ntrie Court	8 West Br	oad Street	10502 Gr	ays Lake Ct
BID # 09-0	47-LR		Mversville	, MD 21773	Bridgeton	, NJ 08302	Tampa.	FL 33626
		**Board Meeting 10/21/08**	,			,		
ITEM#	QTY	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
		MANUFACTURER / PRODUCT #		036146		N F5A		30306146
NPK30	15	SLOAN FLUSHOMETER HANDLE ASSY B-73-A	\$10.09	\$151.35	\$10.71	\$160.65	\$11.286	\$169.29
		MANUFACTURER / PRODUCT #	Sloan (	302390	SLOAI	N B73A	Sloan S	S0302390
NPK31	120	SLOAN HANDLE REP KIT COMPLETE B-50-A	\$1.42	\$170.40	\$2.12	\$254.40	\$2.214	\$265.68
		MANUFACTURER / PRODUCT #	Sloan t	5302305	SLOAI	N B50A	Sloan S	\$5302305
NPK33	50	SLOAN DIAPHRAM #A-1041-A	\$10.32	\$516.00	\$23.24	\$1,162.00	\$25.762	\$1,288.10
		MANUFACTURER / PRODUCT #	Sloan 3	3301122	SLOAN	A1041A	Sloan S	3301502
NPK61	230	SLOAN "O" RING 308696 H-553	\$0.08	\$18.40	\$0.66	\$151.80	\$0.56	\$128.80
		MANUFACTURER / PRODUCT #	Seal	AS123	SLOAI	N H553	Sloan	S141073
NPL03	50	T&S FAUCET INSERT BARREL HOT 000788-20M	\$3.42	\$171.00	\$9.10	\$455.00	\$5.08	**\$254.10
		MANUFACTURER / PRODUCT #	T&S	788-20	T&S 000	788-20M	T & S Bra	ass T78820
NPL03A	50	T&S FAUCET INSERT BARREL COLD 00789-20M X	\$3.42	\$171.00	\$9.10	\$455.00	\$5.207	\$260.35
		MANUFACTURER / PRODUCT #	T&S	789-20	T&S 000	789-20M	T & S Bra	ass T78920
NPL05	40	CENTRAL FAUCET STEM CENTRAL BRASS #G-453-EL	\$4.08	\$163.20	\$4.21	\$168.40	\$6.902	\$276.08
		MANUFACTURER / PRODUCT #		ss G-453-EL	CENTRAL BR	ASS G-453-EL		ss CG453EL
NPQ10A	25	ELKAY D/F FLOW REGULATOR 61314C	\$11.18	\$279.50	\$5.96	\$149.00	\$10.511	\$262.78
		MANUFACTURER / PRODUCT #	,	61314C		61314C	Elkay I	E61314C
NPQ10B	25	ELKAY D/F FLOW REGULATOR #61313C	\$11.18	\$279.50	\$5.96	\$149.00	\$10.511	\$262.78
		MANUFACTURER / PRODUCT #		61313C	ELKAY	61313C	Elkay I	E61313C
NPQ10D1	10	ELKAY REGULATOR HOLDER #50985-C	\$5.83	\$58.30	\$7.35	\$73.50	\$5.326	\$53.26
		MANUFACTURER / PRODUCT #		50985C		50985C	Elkay I	E50985C
NPQ10E	12	ELKAY #10031C RETAINING NUT Elkay	\$5.60	\$67.20	\$4.17	\$50.04	\$3.207	\$38.48
		MANUFACTURER / PRODUCT #		Disc 78058		10031C	,	E10031C
NPQ10E	15	ELKAY 10031C RETAINING NUT	\$5.60	\$84.00	\$4.17	\$62.55	\$3.207	\$48.11
		MANUFACTURER / PRODUCT #		Disc 78058		10031C	,	E10031C
NPQ10F	4	ELKAY HEX NUT #40169C	\$4.87	\$19.48	\$5.79	\$23.16	\$4.458	\$17.83
		MANUFACTURER / PRODUCT #	,	40169C		40169C	,	4Q169C
NPQ10G	15	ELKAY LOCK NUT #70012C	\$3.45	\$51.75	\$4.10	\$61.50	\$3.152	\$47.28
		MANUFACTURER / PRODUCT #		70012C		70012C		E70012C
NPQ10H	12	ELKAY #51531C BLOCK PIVOT	\$0.47	\$5.64	\$0.93	\$11.16	\$0.478	\$5.74
		MANUFACTURER / PRODUCT #	•	51531C		51531C		E51531C
NPQ10I	20	ELKAY ASSY BUBBLER ROUND TOP #56073C	\$10.11	\$202.20	\$11.46	\$229.20	\$10.805	\$216.10
		MANUFACTURER / PRODUCT #	,	56073C		56073C	,	E56073C
NPQ10J	20	ELKAY DRAIN STRAINER #55996C	\$5.71	\$114.20	\$7.03	\$140.60	\$6.674	\$133.48
		MANUFACTURER / PRODUCT #		55996C		55996C		E55996C
NPQ10K	12	ELKAY #40048C PUSH BUTTON	\$2.20	\$26.40	\$2.62	\$31.44	\$2.011	\$24.13
NDC (C)	40	MANUFACTURER / PRODUCT #	•	40048C		40048C	,	E40048C
NPQ10L	12	ELKAY #55996C STRAINER	\$5.71	\$68.52	\$7.03	\$140.60	\$6.674	\$80.09
NDC	_	MANUFACTURER / PRODUCT #		55996C		55996C	,	55996C
NPQ10M	6	ELKAY REGULATOR HOLDER #50986C	\$5.89	\$35.34	\$6.99	\$41.94	\$5.293	\$31.76
	4 -	MANUFACTURER / PRODUCT #		50986C		50986C		E50986C
NPQ10N	12	ELKAY REGULATOR RETAINING NUT #15005C	\$0.47	\$5.64	\$0.69	\$8.28	\$0.478	\$5.74
NDDT	7-	MANUFACTURER / PRODUCT #		15005C		15005C		E15005C
NPR71	75	3/4" HOSE BIBB VACUUM BREAKER	No	Bid	\$2.58	\$193.50	\$2.074	\$155.55
		MANUFACTURER / PRODUCT #			EASTMA	AN 20199	Proflo	PFVB

DATE OF	OPENII	NG: September 19, 2008 @ 2:30 PM	HD Supply Fac	ilities Maintenance, LTD	Warner Plumbing S	Supply Co of FL Inc
BID TITLE	: Plumb	ing Supplies - Maintenance Department	10641 S	cripps Summit Ct	5205 N Ne	braska Ave
BID # 09-0	)47-LR		San D	iego, CA 92131	Tampa, I	FL 33603
		**Board Meeting 10/21/08**				
ITEM#	QTY	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
		MANUFACTURER / PRODUCT #				pan
NPK30	15	SLOAN FLUSHOMETER HANDLE ASSY B-73-A	\$12.20	\$183.00	\$10.55	\$158.25
		MANUFACTURER / PRODUCT #		alve HDS#583635	Slo	pan
NPK31	120	SLOAN HANDLE REP KIT COMPLETE B-50-A	\$2.50	\$300.00	\$2.11	\$253.20
		MANUFACTURER / PRODUCT #	Sloan Va	alve HDS#583650	'	pan
NPK33	50	SLOAN DIAPHRAM #A-1041-A		No Bid	\$24.06	\$1,203.00
		MANUFACTURER / PRODUCT #			Slo	pan
NPK61	230	SLOAN "O" RING 308696 H-553		No Bid	\$0.55	\$126.50
		MANUFACTURER / PRODUCT #				pan
NPL03	50	T&S FAUCET INSERT BARREL HOT 000788-20M	\$6.09	\$304.50	\$9.10	\$455.00
		MANUFACTURER / PRODUCT #	T&S Bra	ass HDS#488661	'	3 S
NPL03A	50	T&S FAUCET INSERT BARREL COLD 00789-20M X	\$6.09	\$304.50	\$9.10	\$455.00
		MANUFACTURER / PRODUCT #	T&S Bra	ass HDS#488651	T	k S
NPL05	40	CENTRAL FAUCET STEM CENTRAL BRASS #G-453-EL		No Bid	\$4.04	\$161.60
		MANUFACTURER / PRODUCT #			Centra	l Brass
NPQ10A	25	ELKAY D/F FLOW REGULATOR 61314C		No Bid	\$11.06	\$276.50
		MANUFACTURER / PRODUCT #			Ell	kay
NPQ10B	25	ELKAY D/F FLOW REGULATOR #61313C		No Bid	\$11.06	\$276.50
		MANUFACTURER / PRODUCT #			Ell	kay
NPQ10D1	10	ELKAY REGULATOR HOLDER #50985-C		No Bid	\$5.77	\$57.70
		MANUFACTURER / PRODUCT #			Ell	kay
NPQ10E	12	ELKAY #10031C RETAINING NUT Elkay		No Bid	\$3.47	\$41.64
		MANUFACTURER / PRODUCT #			Ell	kay
NPQ10E	15	ELKAY 10031C RETAINING NUT		No Bid	\$3.47	\$52.05
		MANUFACTURER / PRODUCT #			Ell	kay
NPQ10F	4	ELKAY HEX NUT #40169C		No Bid	\$4.83	\$19.32
		MANUFACTURER / PRODUCT #			Ell	kay
NPQ10G	15	ELKAY LOCK NUT #70012C		No Bid	\$3.45	\$51.75
		MANUFACTURER / PRODUCT #			Ell	kay
NPQ10H	12	ELKAY #51531C BLOCK PIVOT		No Bid	\$0.50	\$6.00
		MANUFACTURER / PRODUCT #			Ell	kay
NPQ10I	20	ELKAY ASSY BUBBLER ROUND TOP #56073C		No Bid	\$10.00	\$200.00
		MANUFACTURER / PRODUCT #			Ell	cay
NPQ10J	20	ELKAY DRAIN STRAINER #55996C		No Bid	\$5.65	\$113.00
		MANUFACTURER / PRODUCT #			Ell	kay
NPQ10K	12	ELKAY #40048C PUSH BUTTON		No Bid	\$2.18	\$26.16
		MANUFACTURER / PRODUCT #			Ell	kay
NPQ10L	12	ELKAY #55996C STRAINER		No Bid	\$5.65	\$67.80
		MANUFACTURER / PRODUCT #			Ell	кау
NPQ10M	6	ELKAY REGULATOR HOLDER #50986C		No Bid	\$5.83	\$34.98
		MANUFACTURER / PRODUCT #			Ell	kay
NPQ10N	12	ELKAY REGULATOR RETAINING NUT #15005C		No Bid	\$0.50	\$6.00
		MANUFACTURER / PRODUCT #			Ell	kay
NPR71	75	3/4" HOSE BIBB VACUUM BREAKER	\$3.80	\$285.00	\$2.70	\$202.50
1		MANUFACTURER / PRODUCT #	Watts Reg	ulator HDS#640195	Bar	nett

DATE OF	OPENIN	IG: September 19, 2008 @ 2:30 PM	Best Plumbing	Specialties Inc	Bridgeton Plumbing & I	Heating Supply Company	Fer	guson
BID TITLE	: Plumbi	ng Supplies - Maintenance Department	3039 Vei	ntrie Court	8 West B	road Street	10502 Gi	ays Lake Ct
BID # 09-0	47-LR		Mversville	, MD 21773	Bridgeton, NJ 08302		Tampa, FL 33626	
		**Board Meeting 10/21/08**	,			,		
ITEM#	QTY	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
NPR72	50	CHROME CR19 ANGLE STOP 5/8X3/8		Bid	\$2.44	\$122.00	\$2.042	\$102.10
		MANUFACTURER / PRODUCT #			EASTM	AN 04348	Proflo	PFCR19C
NPR78	80	1/2" COMP X 3/8" ANG STOPEASTMAN 04322	No	Bid	\$2.42	\$193.60	\$1.979	\$158.32
		MANUFACTURER / PRODUCT #			EASTM	AN 04322		PFR17C
NPR78A	15	1/2"COMP.X 3/8"OD CR14 CHROME STR	No	Bid	\$3.19	\$47.85	\$3.079	\$46.19
		MANUFACTURER / PRODUCT #			EASTM	AN 04385	Brasscrat	t BOCR14C
NPR81	40	4-Way SILLCOCK KEY	\$1.49	\$59.60	\$2.07	\$82.80	\$2.274	\$90.96
		MANUFACTURER / PRODUCT #	Suncra	ft 12013	WALRIC	H 0421004	Proflo	PF4SKPK
NPS04	50	3/8" STEEL BEAM CLAMP		Bid	\$0.73	\$36.50	\$0.958	\$47.90
		MANUFACTURER / PRODUCT #			· ·	FIELD 191		W7203PC
SPA99A	10	4" N/L CAST IRON FLOOR DRAIN W/TRAP PRIMER	No	Bid	\$42.62	\$426.20	\$16.573	\$165.73
		MANUFACTURER / PRODUCT #			JONES-STEP	PHENS D67-061		2415PNLP
SPD01FP	6	4" PRO PRESS COUP LESS STOP VIEGA 91487	No	Bid	\$62.95	\$377.70	\$68.35	\$410.10
	-	MANUFACTURER / PRODUCT #				A 91487		V91487
SPD01GP	6	4" PRO PRESS MALE ADAPT VIEGA 91327	No	Bid	\$104.22	\$625.32	\$113.205	\$679.23
	-	MANUFACTURER / PRODUCT #				A 91327		V91327
SPD55P	10	3" PRO PRESS COUP LESS STOP VIEGA 20748	No	Bid	\$45.79	\$457.90	\$48.663	\$486.63
		MANUFACTURER / PRODUCT #			VIEG	A 20748	Vieac	V20748
SPD56P	10	2 1/2"PRO PRESS COUP LESS STOP VIEGA 91342	No	Bid	\$35.46	\$354.60	\$40.414	\$404.14
		MANUFACTURER / PRODUCT #			VIEG	A 91342	Viego	V91342
SPD57P	10	2" PROPRESS COUPLESS STOP VIEGA 78072	No	Bid	\$14.03	\$140.30	\$11.837	\$118.37
		MANUFACTURER / PRODUCT #			VIEG	A 78072	Viega	V78072
SPD58	10	1-1/2" PROPRESS REPAIR COUPLING VIEGA 78067	No	Bid	\$12.05	\$120.50	\$8.405	\$84.05
		MANUFACTURER / PRODUCT #			VIEG	A 78067	Viega	V78067
SPD58P	10	2-1/2" PROPRESS 90 ELBOW VIEGA 20623	No	Bid	\$71.57	\$715.70	\$76.065	\$760.65
		MANUFACTURER / PRODUCT #			VIEG	A 20623	Viega	V20623
SPD59	10	1-1/4" PROPRESS REPAIR COUPLING VIEGA 78187	No	Bid	\$7.82	\$78.20	\$7.217	\$72.17
		MANUFACTURER / PRODUCT #			VIEG	A 78187	Viega	V78187
SPD59P	10	4" PROPRESS 90 ELBOW VEGA 20633	No	Bid	\$111.40	\$1,114.00	\$106.554	\$1,065.54
		MANUFACTURER / PRODUCT #			VIEG	A 20633	Viega	V20633
SPD60P	10	3" PROPRESS 90 CXC XLC VIEGA 20628	No	Bid	\$90.04	\$900.40	\$96.622	\$966.22
		MANUFACTURER / PRODUCT #			VIEG/	A 20628	Viega	V20628
SPD63P	10	3" PRO PRESS MALE ADAPT VIEGA 91337	No	Bid	\$90.04	\$900.40	\$107.341	\$1,073.41
		MANUFACTURER / PRODUCT #			VIEG	A 91337	Viega	V91337
SPD64P	10	2 1/2" PRO PRESS MALE ADAPT VIEGA 91332	No	Bid	\$71.57	\$715.70	\$95.12	\$951.20
		MANUFACTURER / PRODUCT #			VIEG/	A 91332	Viega	V91332
SPD65P	10	2" PROPRESS MALE ADAPT VIEGA 91332	No	Bid	\$29.59	\$295.90	\$95.976	\$959.76
		MANUFACTURER / PRODUCT #			VIEG/	A 91332	Viega	V91332
SPD66	10	1-1/2" PROPRESS MALE ADAPTER VIEGA 77872	No	Bid	\$15.37	\$153.70	\$16.326	\$163.26
		MANUFACTURER / PRODUCT #			VIEG/	A 77872	Viega	V77872
SPD67	10	1-1/4" PROPRESS MALE ADAPTER VIEGA 77857	No	Bid	\$11.34	\$113.40	\$10.548	\$105.48
		MANUFACTURER / PRODUCT #			· ·	A 77857		V77857
SPE01	10	2" COPPER SW X SW UNION	No	Bid	\$24.30	\$243.00	\$34.173	\$341.73
-	-	MANUFACTURER / PRODUCT #				WP33-32		art CVK
SPJ20A	12	ELKAY LK-8 STRAINER	No	Bid	\$27.16	\$325.92	\$25.761	\$309.13
	_	MANUFACTURER / PRODUCT #	1		·	Y LK-8		y ELK8

DATE OF	OPENIN	NG: September 19, 2008 @ 2:30 PM	HD Supply Facilities Maintenance, L	TD Warner Plumbing Supply Co of FL Inc
BID TITLE	: Plumbi	ing Supplies - Maintenance Department	10641 Scripps Summit Ct	5205 N Nebraska Ave
BID # 09-0	)47-LR		San Diego, CA 92131	Tampa, FL 33603
		**Board Meeting 10/21/08**	3 /	
ITEM#	QTY	DESCRIPTION	UNIT PRICE TOTAL PRICE	UNIT PRICE TOTAL PRICE
NPR72	50	CHROME CR19 ANGLE STOP 5/8X3/8	No Bid	\$2.19 \$109.50
		MANUFACTURER / PRODUCT #		Eastman
NPR78	80	1/2" COMP X 3/8" ANG STOPEASTMAN 04322	\$6.30 **\$157.50/\$504.0	0 \$2.19 \$175.20
		MANUFACTURER / PRODUCT #	Sscraft HDS#416331***	Eastman
NPR78A	15	1/2"COMP.X 3/8"OD CR14 CHROME STR	\$6.90 **\$276.00	\$2.95 \$44.25
		MANUFACTURER / PRODUCT #	Regulator HDS#416326***	Eastman
NPR81	40	4-Way SILLCOCK KEY	\$2.50 \$100.00	\$2.83 \$113.20
		MANUFACTURER / PRODUCT #	EZ Flo International HDS#153250	) Pasco
NPS04	50	3/8" STEEL BEAM CLAMP	No Bid	\$0.53 \$26.50
		MANUFACTURER / PRODUCT #		Empire
SPA99A	10	4" N/L CAST IRON FLOOR DRAIN W/TRAP PRIMER	No Bid	\$61.71 \$617.10
		MANUFACTURER / PRODUCT #		Zurn 2415
SPD01FP	6	4" PRO PRESS COUP LESS STOP VIEGA 91487	No Bid	\$96.50 \$579.00
		MANUFACTURER / PRODUCT #		Viega
SPD01GP	6	4" PRO PRESS MALE ADAPT VIEGA 91327	No Bid	\$159.83 \$958.98
		MANUFACTURER / PRODUCT #		Viega
SPD55P	10	3" PRO PRESS COUP LESS STOP VIEGA 20748	No Bid	\$63.20 \$632.00
		MANUFACTURER / PRODUCT #		Viega
SPD56P	10	2 1/2"PRO PRESS COUP LESS STOP VIEGA 91342	No Bid	\$61.33 \$613.30
		MANUFACTURER / PRODUCT #		Viega
SPD57P	10	2" PROPRESS COUPLESS STOP VIEGA 78072	No Bid	\$15.38 \$153.80
		MANUFACTURER / PRODUCT #		Viega
SPD58	10	1-1/2" PROPRESS REPAIR COUPLING VIEGA 78067	No Bid	\$12.06 \$120.60
000500	40	MANUFACTURER / PRODUCT #	N. 5: 1	Viega
SPD58P	10	2-1/2" PROPRESS 90 ELBOW VIEGA 20623	No Bid	\$98.79 \$987.90
CDDCO	40	MANUFACTURER / PRODUCT # 1-1/4" PROPRESS REPAIR COUPLING VIEGA 78187	No Dist	Viega
SPD59	10		No Bid	\$10.43 \$104.30
SPD59P	10	MANUFACTURER / PRODUCT # 4" PROPRESS 90 ELBOW VEGA 20633	No Bid	Viega \$153.78 \$1,537.80
3PD39P	10		INO BIO	
SPD60P	10	MANUFACTURER / PRODUCT # 3" PROPRESS 90 CXC XLC VIEGA 20628	No Bid	Viega \$1,245.00
3FD00F	10	MANUFACTURER / PRODUCT #	INO BIQ	\$124.50 \$1,245.00 Viega
SPD63P	10	3" PRO PRESS MALE ADAPT VIEGA 91337	No Bid	\$138.07 \$1,380.70
31 0031	10	MANUFACTURER / PRODUCT #	140 Bid	Viega
SPD64P	10	2 1/2" PRO PRESS MALE ADAPT VIEGA 91332	No Bid	\$123.45 \$1,234.50
31 D071	10	MANUFACTURER / PRODUCT #	140 Bid	Viega
SPD65P	10	2" PROPRESS MALE ADAPT VIEGA 91332	No Bid	\$40.85 \$408.50
3. 5001		MANUFACTURER / PRODUCT #	110 Bid	Viega
SPD66	10	1-1/2" PROPRESS MALE ADAPTER VIEGA 77872	No Bid	\$21.22 \$212.20
5. 500		MANUFACTURER / PRODUCT #		Viega
SPD67	10	1-1/4" PROPRESS MALE ADAPTER VIEGA 77857	No Bid	\$15.13 \$151.30
		MANUFACTURER / PRODUCT #		Viega
SPE01	10	2" COPPER SW X SW UNION	No Bid	\$47.13 \$471.30
	-	MANUFACTURER / PRODUCT #	13 212	Nibco
SPJ20A	12	ELKAY LK-8 STRAINER	No Bid	\$28.12 \$337.44
		MANUFACTURER / PRODUCT #		Elkay

DATE OF	OPENIN	IG: September 19, 2008 @ 2:30 PM	Best Plumbing	Specialties Inc	Bridgeton Plumbing & H	leating Supply Company	Fer	guson
BID TITLE	Plumb	ing Supplies - Maintenance Department	3039 Vei	ntrie Court	8 West Br	oad Street	10502 Gr	ays Lake Ct
BID # 09-0				, MD 21773		NJ 08302		FL 33626
DID # 00 0	77 EIX	**Board Meeting 10/21/08**	Wycrovino	, IVID 21770	Bridgeton,	110 00002	тапра,	1 2 00020
ITEM#	QTY	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
		500 STSCC BLACK, ELONGATED, OPEN FRONT LESS	5		0111111102	101712111102	0111111102	101712111102
SPJ64	200	COVER TOILET SEAT	No	Bid	\$15.51 \$3,102.00		\$11.695	\$2,339.00
		MANUFACTURER / PRODUCT #			BENIS 1955C BLACK		Centoco C50	00STSCCSSBL
SPK30	30	SLOAN FLUSHOMETER HNDLE B-32-A	\$6.46	\$193.80	\$8.07	\$242.10	\$8.476	\$254.28
		MANUFACTURER / PRODUCT #	Sloan 3	3301448	SLOAM	N B32A	Sloan S	S5302279
SPK34	100	SLOAN CLOSET REPAIR KIT A-41-A	\$10.34	\$1,034.00	\$12.72	\$1,272.00	\$19.321	\$1,932.10
		MANUFACTURER / PRODUCT #	Sloan 3	3301041	SLOAM	N A41A	Sloan S	S3301041
SPK34A	100	SLOAN URINAL REPAIR KIT A-42-A	\$10.34	\$1,034.00	\$12.72	\$1,272.00	\$19.167	\$1,916.70
		MANUFACTURER / PRODUCT #	Sloan 3	3301044	SLOAM	N A42A	Sloan S	S3301044
SPK34A	100	SLOAN URINAL REPAIR KIT A-42-A	\$10.34	\$1,034.00	\$12.72	\$1,272.00	\$19.167	\$1,916.70
		MANUFACTURER / PRODUCT #	Sloan 3	3301044	SLOAM	N A42A	Sloan S	S3301044
SPK34B	50	SLOAN CLOSET REPAIR KIT A-36-A	\$7.58	\$379.00	\$9.88	\$494.00	\$13.762	\$688.10
		MANUFACTURER / PRODUCT #	Sloan 3	3301036	SLOAM	N A36A	Sloan S	S3301036
SPK34C	40	SLOAN URINAL REPAIR KIT A-37-A	\$7.58	\$303.20	\$9.88	\$395.20	\$13.714	\$548.56
		MANUFACTURER / PRODUCT #	Sloan 3	3301037	SLOAM	N A37A	Sloan	S3301037
SPK58	90	SLOAN OR ZURN 1" FLUSHOMETER ZURN#Z6000-YB	\$59.50	\$5,355.00	\$64.13	\$5,771.70	\$55.182	\$4,966.38
		MANUFACTURER / PRODUCT #		6000-YB	ZURN Z	6000-YB	Zurn Z26	000WS1YB
SPK59	50	SLOAN 3/4" FLUSHOMETER 186-1	\$64.31	\$3,215.50	\$68.21	\$3,410.50	\$104.774	\$5,238.70
		MANUFACTURER / PRODUCT #	Sloan Reg	al 3082624	SLOAN		Sloan S	S3012636
SPK63	100	SLOAN CLOSET REPAIR KIT A-38-A	\$7.58	\$758.00	\$9.88	\$988.00	\$13.202	\$1,320.20
		MANUFACTURER / PRODUCT #	Sloan 3	3301038	SLOAM	N A38A	Sloan	S3301038
SPL22	30	MOEN #1200 CARTRIDGE	\$17.25	\$517.50	\$16.49	\$494.70	\$16.258	\$487.74
		MANUFACTURER / PRODUCT #		1200B	MOEN		Moen	M1222B
SPP01C	200	SYMMONS S-71 FAUCET	\$61.02	\$12,204.00	\$53.61	\$10,722.00	\$66.193	\$13,238.60
		MANUFACTURER / PRODUCT #		ons S-71	SYMMO			ons SS71
SPP01D	50	SYMMONS S-72 FAUCET	\$66.90	\$3,345.00	\$67.26	\$3,363.00	\$79.711	\$3,985.55
		MANUFACTURER / PRODUCT #	•	ons S-72	SYMMO	NS S-72	,	ons SS72
SPP01R	40	SYMMONS KIT-LL-1A REPAIR KIT	\$72.39	\$2,895.60	\$69.14	\$2,765.60	\$96.55	**\$386.00
		MANUFACTURER / PRODUCT #		ns LL-1A	SYMMOI			ns SLL1A
SPP02	20	CHICAGO 895 FAUCET	\$107.87	\$2,157.40	\$120.24	\$2,404.80	\$68.948	\$1,378.96
		MANUFACTURER / PRODUCT #		895-CP		GO 895	J	C895317CP
SPP05	20	T & S B-0674 BSTP FAUCET	\$107.38	\$2,147.60	\$102.55	\$2,051.00	\$97.65	\$1,953.00
		MANUFACTURER / PRODUCT #		674-BSTP		674-B5TP		0674POLJJ
SPP06A	10	8" WALL MT KIT FAUC W/12 SPOUT T&S B-0230-LN	\$81.96	\$819.60	\$99.11	\$991.10	\$88.97	\$889.70
		MANUFACTURER / PRODUCT #		-0230-LN	T&S E		1	B0230LN
SPP07	40	CENTRAL BRASS GOOSENECK FAUCET 0286-AC	\$42.95	\$1,718.00	\$40.04	\$1,601.60	\$54.286	\$2,171.44
		MANUFACTURER / PRODUCT #		ss 0286-AC		ASS 0286-AC		ass C0286AC
SPP08D	4	I & S B-2250 FAUCE I	\$127.37	\$509.48	\$121.64	\$486.56	\$138.26	\$553.04
000000	4	MANUFACTURER / PRODUCT #		B-2250		3-2250		TB2250
SPP08R	10	T & S VACUUM B-0968 REPAIR KIT	\$11.99	\$119.90	\$13.50	\$135.00	\$13.02	\$130.20
000000		MANUFACTURER / PRODUCT #		968-RK01		968-RK01		30968RK01
SPP08R2	20	T & S VACUUM B-0969-RKD1 PVC	\$13.65	\$273.00	\$13.50	\$270.00	\$14.818	\$296.36
000000		MANUFACTURER / PRODUCT #		969-RK01	T&S B-09			30969RK01
SPP08R3	3	WATTS 288A VACUUM KIT 3/8" PVC	No	Bid	\$11.54	\$34.62	\$26.947	\$80.84
00000	465	MANUFACTURER / PRODUCT #	<b>#</b> 400.00	047.400.75		887170		W288AC
SPP09	125	HAWES BUBBLER 5017LF	\$139.23	\$17,403.75	\$132.96	\$16,620.00	\$123.337	\$15,417.13

DATE OF	OPENII	NG: September 19, 2008 @ 2:30 PM	HD Supply Fac	cilities Maintenance, LTD	Warner Plumbing S	Supply Co of FL Inc
BID TITLE	: Plumb	ing Supplies - Maintenance Department	10641 S	cripps Summit Ct	5205 N Ne	braska Ave
BID # 09-0	)47-LR			iego, CA 92131	Tampa.	FL 33603
		**Board Meeting 10/21/08**		9-,		
ITEM#	QTY	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
		500 STSCC BLACK, ELONGATED, OPEN FRONT LESS				
SPJ64	200	COVER TOILET SEAT		No Bid	\$12.17	\$2,434.00
		MANUFACTURER / PRODUCT #			Sen	taco
SPK30	30	SLOAN FLUSHOMETER HNDLE B-32-A		No Bid	\$7.95	\$238.50
		MANUFACTURER / PRODUCT #			Sid	pan
SPK34	100	SLOAN CLOSET REPAIR KIT A-41-A	\$21.99	\$2,199.00	\$11.63	\$1,163.00
		MANUFACTURER / PRODUCT #	Sloan Va	alve HDS#583620	Slo	pan
SPK34A	100	SLOAN URINAL REPAIR KIT A-42-A	\$20.99	\$2,099.00	\$11.63	\$1,163.00
		MANUFACTURER / PRODUCT #	Sloan Va	alve HDS#583955	Slo	pan
SPK34A	100	SLOAN URINAL REPAIR KIT A-42-A		No Bid	\$11.63	\$1,163.00
		MANUFACTURER / PRODUCT #			Sid	pan
SPK34B	50	SLOAN CLOSET REPAIR KIT A-36-A	\$14.50	**\$1,450.00	\$8.36	\$418.00
		MANUFACTURER / PRODUCT #	Sloan Va	alve HDS#583925	Slo	pan
SPK34C	40	SLOAN URINAL REPAIR KIT A-37-A	\$14.10	\$564.00	\$8.36	\$334.40
		MANUFACTURER / PRODUCT #	Sloan Va	alve HDS#583950	Slo	pan
SPK58	90	SLOAN OR ZURN 1" FLUSHOMETER ZURN#Z6000-YB		No Bid	\$58.83	\$5,294.70
		MANUFACTURER / PRODUCT #			Sid	pan
SPK59	50	SLOAN 3/4" FLUSHOMETER 186-1	\$101.85	**\$5,092.57	\$64.71	\$3,235.50
		MANUFACTURER / PRODUCT #	Sloan Va	alve HDS#500785	Sid	pan
SPK63	100	SLOAN CLOSET REPAIR KIT A-38-A	\$14.50	\$1,450.00	\$8.36	\$836.00
		MANUFACTURER / PRODUCT #	Sloan Va	alve HDS#583900	Slo	pan
SPL22	30	MOEN #1200 CARTRIDGE		No Bid	\$15.06	\$451.80
		MANUFACTURER / PRODUCT #			Mo	pen
SPP01C	200	SYMMONS S-71 FAUCET		No Bid	\$60.35	\$12,070.00
		MANUFACTURER / PRODUCT #			Sym	mons
SPP01D	50	SYMMONS S-72 FAUCET		No Bid	\$66.16	\$3,308.00
		MANUFACTURER / PRODUCT #			Sym	mons
SPP01R	40	SYMMONS KIT-LL-1A REPAIR KIT		No Bid	\$71.58	\$2,863.20
		MANUFACTURER / PRODUCT #			Sym	mons
SPP02	20	CHICAGO 895 FAUCET	\$121.00	\$2,420.00	\$115.10	\$2,302.00
		MANUFACTURER / PRODUCT #	Chicago Fa	aucets HDS#415000	Chic	cago
SPP05	20	T & S B-0674 BSTP FAUCET		No Bid	\$106.17	\$2,123.40
		MANUFACTURER / PRODUCT #			T 8	k S
SPP06A	10	8" WALL MT KIT FAUC W/12 SPOUT T&S B-0230-LN		No Bid	\$99.11	\$991.10
		MANUFACTURER / PRODUCT #			T 8	& S
SPP07	40	CENTRAL BRASS GOOSENECK FAUCET 0286-AC		No Bid	\$42.47	\$1,698.80
		MANUFACTURER / PRODUCT #			Centra	l Brass
SPP08D	4	T & S B-2250 FAUCET		No Bid	\$125.93	\$503.72
		MANUFACTURER / PRODUCT #			T	k S
SPP08R	10	T & S VACUUM B-0968 REPAIR KIT		No Bid	\$11.86	\$118.60
		MANUFACTURER / PRODUCT #			T 8	& S
SPP08R2	20	T & S VACUUM B-0969-RKD1 PVC		No Bid	\$13.51	\$270.20
		MANUFACTURER / PRODUCT #			T 8	3 S
SPP08R3	3	WATTS 288A VACUUM KIT 3/8" PVC		No Bid	\$8.83	\$26.49
		MANUFACTURER / PRODUCT #				atts
SPP09	125	HAWES BUBBLER 5017LF	\$125.00	\$15,625.00	\$137.00	\$17,125.00

DATE OF	OPENII	NG: September 19, 2008 @ 2:30 PM	Best Plumbing	Specialties Inc	Bridgeton Plumbing & F	leating Supply Company	Fei	guson
		'		ntrie Court	8 West Br	0 11 7 1 7		Ŭ
BID IIILE	: Plumi	ing Supplies - Maintenance Department	3039 Ver	nine Court	8 West Br	oad Street	10502 G	rays Lake Ct
BID # 09-0	47-LR		Myersville, MD 21773		Bridgeton, NJ 08302		Tampa, FL 33626	
		**Board Meeting 10/21/08**						
ITEM#	QTY	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
		MANUFACTURER / PRODUCT #	Haws	50176F	HAWS	5017LF	Haws	HS017LF
SPP10	40	FAUCET MOEN 8" DECK LESS SPRAY CHATEAU #67425	*\$63.31 <b>/</b> 48	*\$3,038.88	\$60.03	\$2,401.20	\$60.398	\$2,415.92
		MANUFACTURER / PRODUCT #	Moen	67425	MOEN	67425	Moen	M67425
SPP11	20	FAUCET MOEN 8" DECK WITH SPRAY CHATEAU #67430	*\$79.00 <b>/</b> 24	*\$1,896.00	\$75.45	\$1,509.00	\$60.613	\$1,212.26
		MANUFACTURER / PRODUCT #	Moen	67430	MOEN	67430	Moen	M67430
SPP12	20	T&S BRASS LAB FAUCET BL5707-1	\$199.34	\$3,986.80	\$190.37	\$3,807.40	\$216.38	\$4,327.60
		MANUFACTURER / PRODUCT #	T & S BL	-5701-01	T&S BL-	-5707-01	T&ST	BL570701
SPP14	150	WATER FILTER CARTRIDGE AP117	\$16.37	\$2,455.50	\$19.00	\$2,850.00	\$34.793	\$5,218.95
		MANUFACTURER / PRODUCT #	Cuno	AP117	CUNO AP117		Cuno C	WPAP117
SPP15	10	WATER FILTER AQUA PURE AP11T	\$63.65	\$636.50	\$70.50	\$705.00	\$60.218	\$602.18
		MANUFACTURER / PRODUCT #	Cuno	AP11T	AQUA PU	RE AP11T	Cuno	CAP11T
SPP18	20	DELTA #1524HDF SHOWER VALVE	No	Bid	No	Bid	\$71.596	\$1,431.92
		MANUFACTURER / PRODUCT #					Delta ST132	290DR100000N
SPP19	25	FAUCET MOEN L64601 LAVATORY	\$57.46	*\$1,379.04	\$54.88	\$1,372.00	\$51.86	\$1,296.50
		MANUFACTURER / PRODUCT #	Moen	L64601	MOEN	L64601	Moen	ML64601
SPP23	3	CHICAGO 802-CP FAUCET WITH HANDLES	\$89.93	\$269.79	\$100.12	\$300.36	\$78.72	\$236.16
		MANUFACTURER / PRODUCT #	Chicago	802-CP	CHICAGO	O 802-CP	Chicag	o C802CP
SPP30	6	T & S B-0865-04 W/WRIST BLADES	\$149.36	\$896.16	\$142.64	\$855.84	\$162.13	\$972.78
		MANUFACTURER / PRODUCT #	T&SB	-0865-04	T&S B-	0865-04	T&S	TB086504
SPP65	5	ZURN W/HYDRANT REPAIR KIT 66955-203-9	\$102.75	\$513.75	\$49.12	\$245.60	\$96.214	\$481.07
		MANUFACTURER / PRODUCT #	Zurn 669	955-2039	ZUR	N RK	Zurn SP2HY	DRKZ130S1525

DATE OF	OPENI	NG: September 19, 2008 @ 2:30 PM	HD Supply Fac	cilities Maintenance, LTD	Warner Plumbing	Supply Co of FL Inc	
		oing Supplies - Maintenance Department	10641 5	Scripps Summit Ct	5205 N Nebraska Ave		
BID # 09-0			San D	Diego, CA 92131	Tampa, FL 33603		
		**Board Meeting 10/21/08**			,		
ITEM#	QTY	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	
		MANUFACTURER / PRODUCT #	Haws	s HDS#424106	Ha	wes	
SPP10	40	FAUCET MOEN 8" DECK LESS SPRAY CHATEAU #67425	\$58.48	**\$2,339.06	\$69.05	\$2,762.00	
		MANUFACTURER / PRODUCT #	Moei	n HDS#412601	Mo	pen	
SPP11	20	FAUCET MOEN 8" DECK WITH SPRAY CHATEAU #67430	\$74.98	**\$2,999.19	\$87.06	\$1,741.20	
		MANUFACTURER / PRODUCT #	Moei	n HDS#412651	Mo	Moen	
SPP12	20	T&S BRASS LAB FAUCET BL5707-1		No Bid	\$197.00	\$3,940.00	
		MANUFACTURER / PRODUCT #			T (	% S	
SPP14	150	WATER FILTER CARTRIDGE AP117	\$36.50	\$5,475.00	\$16.70	\$2,505.00	
		MANUFACTURER / PRODUCT #	No H	IDS#300470***	Cı	ıno	
SPP15	10	WATER FILTER AQUA PURE AP11T		No Bid	\$64.89	\$648.90	
		MANUFACTURER / PRODUCT #			Cı	ıno	
SPP18	20	DELTA #1524HDF SHOWER VALVE		No Bid	\$73.25	\$1,465.00	
		MANUFACTURER / PRODUCT #			De	elta	
SPP19	25	FAUCET MOEN L64601 LAVATORY	\$62.20	\$1,555.00	\$63.12	\$1,578.00	
		MANUFACTURER / PRODUCT #	Moen #L6	64601 HDS#500648	Mo	oen	
SPP23	3	CHICAGO 802-CP FAUCET WITH HANDLES		No Bid	\$99.37	\$298.11	
		MANUFACTURER / PRODUCT #			Chi	cago	
SPP30	6	T & S B-0865-04 W/WRIST BLADES		No Bid	\$147.67	\$886.02	
		MANUFACTURER / PRODUCT #			T	& S	
SPP65	5	ZURN W/HYDRANT REPAIR KIT 66955-203-9		No Bid	\$92.36	\$461.80	
		MANUFACTURER / PRODUCT #			Zu	rn	

DATE OF	OPENII	NG: September 19, 2008 @ 2:30 PM	Best Plumbing	Specialties Inc	Bridgeton Plumbing & H	leating Supply Company	Fer	guson
BID TITLE	: Plumb	ing Supplies - Maintenance Department	3039 Ver	ntrie Court	8 West Br	oad Street	10502 Gr	ays Lake Ct
BID # 09-0	47-I R		Mversville	, MD 21773	Bridgeton,	NJ 08302	Tampa	FL 33626
2.2 00 0		**Board Meeting 10/21/08**	, 5515				, ampa,	000_0
ITEM#	QTY	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
SPPO8R5	15	CHICAGO FAUCET VAC BREAKER KIT C892-202KJKNF	\$9.99	\$149.85	\$13.19	\$197.85	\$9.719	\$145.79
		MANUFACTURER / PRODUCT #	Chicago 89	2-202KJKNF	CHICAGO	892-202KD	Chicago C8	392202KJKNF
SPQ10A	35	ELKAY REGULATOR 61314C	\$11.18	\$391.30	\$5.96	\$208.60	\$10.511	\$367.89
		MANUFACTURER / PRODUCT #	Halsey	61314C	ELKAY	61314C	Elkay	E61314C
SPQ10B	15	ELKAY REGULATOR 61313	\$11.18	\$167.70	\$5.96	\$89.40	\$10.511	\$157.67
		MANUFACTURER / PRODUCT #	Halsey	61313C	ELKAY	61313C	Elkay	E61313
SPQ10C	15	ELKAY REGULATOR ASSY 60290C	\$14.93	\$223.95	\$17.12	\$256.80	\$13.641	\$204.62
		MANUFACTURER / PRODUCT #	Elkay (	60290C	ELKAY	60290C	Elkay	E60290C
SPQ34A	6	HAWS REGULATOR 5872	\$94.96	\$569.76	\$90.69	\$544.14	\$114.00	\$684.00
		MANUFACTURER / PRODUCT #	Haws	5872	HAWS	S 5872	Haws	H5872C
00000		A /OH E L D. TDAD DDIMED MIEAD MILTOD O		B: 1	<b>#</b> 00.00	<b>*</b> 174.40	000 745	<b>#</b> 470.00
SPR88	6	1/2" F.I.P. TRAP PRIMER-MIFAB MI+TSP-2	NO	Bid	\$29.08	\$174.48	\$28.715	\$172.29
		MANUFACTURER / PRODUCT #			MIFABI	/II-TSP-2	Mitab Si	PMM1TSP2
0.00	4.0	BRIGGS 7714-130 W/C FLUSH WHITE, ELONGATED		D: 1		B	<b>#</b> 50 700	<b>0</b> =0= 00
SPT03	10	BOWL, TOP SPUD WATER CLOSET	NO	Bid	No	RIG	\$58.789	\$587.89
		MANUFACTURER / PRODUCT #					Profio F	PF1701WH
	_	AMERICAN STANDARD 12" RGH, E.B., WHITE TANK						
SPT10	6	TYPE WATER CLOSET TANK AND BOWL A/S 2898.012	No	Bid	No	Bid	\$178.19	\$1,069.14
		MANUFACTURER / PRODUCT #					Kohler	K3432-0
_		AMERICAN STANDARD 12" RGH. E.B., WHITE TANK					_	
SPT11	5	TYPE HANDICAPPED WATER CLOSET A/S 2998.012	No	Bid	No	Bid	\$140.894	\$704.47
		MANUFACTURER / PRODUCT #					Kohler	K3427-0
		SINK S/S KINDERGARTEN				•		
SPT26	50	ELKAY CDKAD2517-65-2H	No	Bid	\$563.78	\$28,189.00	\$176.087	\$8,804.35
		MANUFACTURER / PRODUCT #			ELKAY CD	KAD2517C	Elkay ECD	KAD2517652
		SINK S/S BAR SINK 15 X 15 1 HOLE KINGSFORD BY			•	<b>*</b>		
SPT28	75	DAYTON #K115151	No	Bid	\$29.13	\$2,184.75	\$25.884	\$1,941.30
		MANUFACTURER / PRODUCT #			ELKAY I	K115151	Proflo P	PFT151561
		SINK SS BAR SINK 15 x 15 2 HOLE KINGSFORD BY			•			
SPT28A	12	DAYTON #K115152	No	Bid	\$29.13	\$349.56	\$25.884	\$310.61
		MANUFACTURER / PRODUCT #			ELKAY	K115152	Proflo P	PFT151562
		SINK S/S DOUBLE BOWL KINGSFORD 1733 4						
SPT33	10	HOLE ELKAY K233224	No	Bid	\$44.50	\$445.00	\$37.716	\$377.16
007-01	4.5	MANUFACTURER / PRODUCT #			ELKAY I			PFT332264
SPT50A	10	WATER HEATER 2 1/2 GALLON, 110 VOLT WITH	No	Bid	No	Rid	\$109.708	\$1,097.08
		MANUFACTURER / PRODUCT #					EEMAX	K EEMT25
SPT53	3	WATER HEATER 10 GALLON LOW BOY ELSF-10 120V	No	Bid	No	Bid	\$257.377	\$772.13
		MANUFACTURER / PRODUCT #					State SES6	10SOMSK165
SPT60	10	GENERAL WIRE TGFL TELESCOPING AUGER	\$42.73	\$427.30	\$37.31	\$373.10	N	o Bid
		MANUFACTURER / PRODUCT #	General Wi	re T6FL-DH	GENERAL	WIRE T6FL		

DATE OF	OPENII	NG: September 19, 2008 @ 2:30 PM	HD Supply Fac	cilities Maintenance, LTD	Warner Plumbing	Supply Co of FL Inc
BID TITLE	: Plumb	oing Supplies - Maintenance Department	10641 S	cripps Summit Ct	5205 N Ne	ebraska Ave
BID # 09-0	)47-LR		San D	iego, CA 92131	Tampa.	FL 33603
		**Board Meeting 10/21/08**				
ITEM#	QTY	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
					011111111111111111111111111111111111111	
SPPO8R5	15	CHICAGO FAUCET VAC BREAKER KIT C892-202KJKNF		No Bid	\$9.89	\$148.35
		MANUFACTURER / PRODUCT #			Chi	cago
SPQ10A	35	ELKAY REGULATOR 61314C		No Bid	\$11.06	\$387.10
		MANUFACTURER / PRODUCT #			El	kay
SPQ10B	15	ELKAY REGULATOR 61313		No Bid	\$11.06	\$165.90
		MANUFACTURER / PRODUCT #				kay
SPQ10C	15	ELKAY REGULATOR ASSY 60290C		No Bid	\$14.77	\$221.55
		MANUFACTURER / PRODUCT #			El	kay
SPQ34A	6	HAWS REGULATOR 5872		No Bid	\$93.89	**\$56,334.00
		MANUFACTURER / PRODUCT #			H	aws
SPR88	6	1/2" F.I.P. TRAP PRIMER-MIFAB MI+TSP-2		No Bid	\$26.80	\$160.80
		MANUFACTURER / PRODUCT #			М	ifab
		BRIGGS 7714-130 W/C FLUSH WHITE, ELONGATED				
SPT03	10	BOWL, TOP SPUD WATER CLOSET		No Bid	\$57.65	\$576.50
		MANUFACTURER / PRODUCT #			Br	iggs
		AMERICAN STANDARD 12" RGH, E.B., WHITE TANK				
SPT10	6	TYPE WATER CLOSET TANK AND BOWL A/S 2898.012		No Bid	\$116.89	\$701.34
		MANUFACTURER / PRODUCT #			Ameri	can Std
		AMERICAN STANDARD 12" RGH. E.B., WHITE TANK				
SPT11	5	TYPE HANDICAPPED WATER CLOSET A/S 2998.012		No Bid	\$132.47	\$662.35
		MANUFACTURER / PRODUCT #			Ameri	can Std
		SINK S/S KINDERGARTEN				
SPT26	50	ELKAY CDKAD2517-65-2H		No Bid	\$205.84	\$10,292.00
		MANUFACTURER / PRODUCT #			El	kay
		SINK S/S BAR SINK 15 X 15 1 HOLE KINGSFORD BY				
SPT28	75	DAYTON #K115151		No Bid	\$27.06	\$2,029.50
		MANUFACTURER / PRODUCT #			Da	yton
		SINK SS BAR SINK 15 x 15 2 HOLE KINGSFORD BY				
SPT28A	12	DAYTON #K115152	\$47.95	\$575.40	\$27.06	\$324.72
		MANUFACTURER / PRODUCT #	Elkay	/ HDS#500596	Da	yton
		SINK S/S DOUBLE BOWL KINGSFORD 1733 4				
SPT33	10	HOLE ELKAY K233224	\$42.80	\$428.00	\$29.40	\$294.00
		MANUFACTURER / PRODUCT #	Elkay	HDS#500590		yton
SPT50A	10	WATER HEATER 2 1/2 GALLON, 110 VOLT WITH		No Bid	\$140.00	\$1,400.00
		MANUFACTURER / PRODUCT #			Eı	may
SPT53	3	WATER HEATER 10 GALLON LOW BOY ELSF-10 120V	\$348.86	\$1,046.58	\$275.00	\$825.00
		MANUFACTURER / PRODUCT #	Rheen	n HDS#207975	Er	may
SPT60	10	GENERAL WIRE TGFL TELESCOPING AUGER		No Bid	\$42.25	\$422.50
		MANUFACTURER / PRODUCT #			Gene	ral Wire

DATE OF	OPENII	NG: September 19, 2008 @ 2:30 PM	Best Plumbing	Specialties Inc	Bridgeton Plumbing & F	leating Supply Company	Fer	guson
BID TITLE	Plumb	ing Supplies - Maintenance Department	3039 Ver	ntrie Court	8 West Br	oad Street	10502 Gr	ays Lake Ct
BID # 09-0	47-I R		Myersville	, MD 21773	Bridgeton	NJ 08302	Tamna	FL 33626
DID # 00 0	77 LIX	**Board Meeting 10/21/08**	Wycrovino	, IVID 21770	Bridgeton	110 00002	rampa,	1 2 00020
ITEM#	QTY	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
SPT60A	40	GENERAL WIRE CLOSET AUGER T6FL	\$37.73	\$1.509.20	\$37.31	\$1.492.40	\$35.337	\$1,413,48
		MANUFACTURER / PRODUCT #	General V	Vire T6FL	GENERAL	WIRE T6FL	Central V	Vire GT6FL
SPT60U	30	GENERAL WIRE URINAL AUGER TU4	\$20.20	\$606.00	\$21.23	**\$636.96	\$18.737	\$562.11
		MANUFACTURER / PRODUCT #		Wire TU4	GENERAL	WIRE TU4	General	Wire GTV4
SPT61	10	24" x 1 1/2" S.S. GRAB BAR		Bid	\$22.60	\$226.00	\$16.438	\$164.38
		MANUFACTURER / PRODUCT #			MOEN	R8924	Proflo P	FGB24SF
SPT61A	12	36" x 1 1/2" S.S. GRAB BAR	No	Bid	\$27.72	\$332.64	\$20.191	\$242.29
		MANUFACTURER / PRODUCT #			MOEN	R8936	Proflo P	FGB36SF
SPT61B	6	42" x 1 1/2" S.S. GRAB BAR	No	Bid	\$29.67	\$178.02	\$21.64	\$129.84
		MANUFACTURER / PRODUCT #			MOEN	N 8942	Proflo P	FGB42ST
SPT62	8	ELKAY STRAINER COMM TRIP ELKAY LD-24	No	Bid	\$60.52	\$484.16	\$88.75	\$710.00
		MANUFACTURER / PRODUCT #			ELKAY I	_K-24-RT	Elkay l	ELK24RT
SPT63	10	BADGER 5 INSINKERATOR DISPOSAL	No	Bid	\$86.77	\$867.70	\$63.83	**\$638.33
		MANUFACTURER / PRODUCT #			BAGI	DER 5	Insankede	r IBADGER5
SPT68	8	16" x 16" ACCESS DOOR - 1 HOUR RATED	No	Bid	No	Bid	\$38.843	\$310.74
		MANUFACTURER / PRODUCT #					Accydor	AVF500016
SPT71	20	HALSEY TAYLOR 2501A BUBBLER	No	Bid	No	Bid	\$190.715	\$3,814.30
		MANUFACTURER / PRODUCT #					Halsey Ta	ylor H2501A
SPW03	4	OASIS P8AC SANDSTONE WATER COOLER	No	Bid	\$580.23	\$2,320.92	\$411.93	\$1,647.72
		MANUFACTURER / PRODUCT #			OASIS	P8AC	Oasis	OP8AC
SPW11	10	ELKAY WALL-MOUNT #ESWA-8	No	Bid	\$762.23	\$7,622.30	\$846.435	\$8,464.35
		MANUFACTURER / PRODUCT #		,		ESWA-8	,	ESWA8512
SPW11A	6	ELKAY HEW-5 FOUNTAIN	No	Bid	No	Bid	No	o Bid
		MANUFACTURER / PRODUCT #						
SPW11C	4	ELKAY HEW-3 WATER COOLER	No	Bid	\$436.37	\$1,745.48	\$450.00	\$1,800.00
		MANUFACTURER / PRODUCT #				HEW3		HEW3L12
SPW12A	6	ELKAY EHFSA 8 L1Z WATER COOLER	No	Bid	\$445.00	\$2,670.00	\$465.000	**\$2794.89
		MANUFACTURER / PRODUCT #				IFSA 8 L1Z		HFSA8L12
SPW12A	10	ELKAY EZS8L BARRIER FREE WATER COOLER	No	Bid	\$340.91	\$3,409.10	\$327.239	\$3,272.39
0.51		MANUFACTURER / PRODUCT #				EZS8L	,	EE258L
SPW31	20	ELKAY EDFP-210-C	No	Bid	\$457.23	\$9,144.60	\$466.315	\$9,326.30
0.51		MANUFACTURER / PRODUCT #				DFB210C	,	EDFP210C
SPW32	10	ELKAY EDF-210-C FOUNTAIN	No	Bid	\$1,493.34	\$14,933.40	\$1,947.913	+ -,
0=1		MANUFACTURER / PRODUCT #				DF210C	,	EDF210C
SPW50	15	ELKAY EZS8 WATER	No	Bid	\$340.91	\$5,113.65	\$327.239	\$4,908.59
		MANUFACTURER / PRODUCT #			ELKA	/ EZS8	Elkay	/ EE258
00000414	_	5'-9' ADJUSTABLE VALVE KEY NORTHSTAF NS342/5x9-		D: 1		D: 1	007.00	<b>0400.5</b> 6
SPX21K	5	1/2" EXTENDABLE WRENCH	No	Bid	No	Bid	\$27.90	\$139.50
*D=:- : ! !		MANUFACTURER / PRODUCT #					Raptor	RAP41024
		size of 2, 5, 10, 12, or 25						
**Addition		cize of 2 5 10 or 25						
Sola by	carton	size of 2, 5, 10, or 25		1				

DATE OF OPENING: September 19, 2008 @ 2:30 PM			HD Supply Facilities Maintenance, LTD		Warner Plumbing Supply Co of FL Inc		
BID TITLE: Plumbing Supplies - Maintenance Department			10641 Scripps Summit Ct		5205 N Nebraska Ave		
BID # 09-047-LR			San Diego, CA 92131		Tampa, FL 33603		
**Board Meeting 10/21/08**			Jan B	710g0, OA 32131	rain	pa, 1 L 33003	
ITEM#	QTY	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	
SPT60A	40	GENERAL WIRE CLOSET AUGER T6FL	\$47.97	**\$1,918.84	\$37.31	\$1,492.40	
		MANUFACTURER / PRODUCT #		General Wire HDS#152570		General Wire	
SPT60U	30	GENERAL WIRE URINAL AUGER TU4	\$25.80	\$774.00	\$19.98	\$599.40	
01 1000	- 00	MANUFACTURER / PRODUCT #	Ŧ	Wire HDS#152513	<u>'</u>	eneral Wire	
SPT61	10	24" x 1 1/2" S.S. GRAB BAR	\$31.99	\$319.90	\$18.23	\$182.30	
01 101		MANUFACTURER / PRODUCT #	Bobbrick HDS#820805		Barnett		
SPT61A	12	36" x 1 1/2" S.S. GRAB BAR	\$31.99	\$383.88	\$22.37	\$268.44	
01 1017	12	MANUFACTURER / PRODUCT #	Ŧ	ck HDS#820835	ΨΖΖ.01	Barnett	
SPT61B	6	42" x 1 1/2" S.S. GRAB BAR	\$32.99	\$197.94	\$24.19	\$145.14	
51 1015	3	MANUFACTURER / PRODUCT #	*	ck HDS#820840	Ψ27.10	Barnett	
SPT62	8	ELKAY STRAINER COMM TRIP ELKAY LD-24	No Bid		\$96.00	\$768.00	
01 102	0	MANUFACTURER / PRODUCT #		140 Bid	ψου.υυ	Elkav	
SPT63	10	BADGER 5 INSINKERATOR DISPOSAL	\$65.95	\$659.50	\$83.42	\$834.20	
01 100	10	MANUFACTURER / PRODUCT #	*	v # Badger 5 HDS#405300	ψ00.72	lse	
SPT68	8	16" x 16" ACCESS DOOR - 1 HOUR RATED	\$43.00	\$344.00	\$104.40	\$835.20	
01 100	0	MANUFACTURER / PRODUCT #		SFD 16x16 WH HDS#816	Ψ104.40	Oatey	
SPT71	20	HALSEY TAYLOR 2501A BUBBLER	ison maastries n	No Bid	\$157.06	\$3,141.20	
	20	MANUFACTURER / PRODUCT #		No Bid		alsey Taylor	
SPW03	4	OASIS P8AC SANDSTONE WATER COOLER		No Bid	\$409.42	\$1,637.68	
	-	MANUFACTURER / PRODUCT #		110 Bid	Ψ+00.42	Oasis	
SPW11	10	ELKAY WALL-MOUNT #ESWA-8		No Bid	\$842.05	\$8,420.50	
		MANUFACTURER / PRODUCT #		110 210	ψο 12.00	Elkay	
SPW11A	6	ELKAY HEW-5 FOUNTAIN	No Bid		No Bid		
OI WIII	Ŭ	MANUFACTURER / PRODUCT #		110 Bid		110 Dia	
SPW11C	4	ELKAY HEW-3 WATER COOLER		No Bid	\$485.00	\$1,940.00	
	-	MANUFACTURER / PRODUCT #			*	Elkav	
SPW12A	6	ELKAY EHFSA 8 L1Z WATER COOLER		No Bid	\$508.00	\$3,048.00	
		MANUFACTURER / PRODUCT #			· · · · · · · · · · · · · · · · · · ·	Elkay	
SPW12A	10	ELKAY EZS8L BARRIER FREE WATER COOLER		No Bid	\$352.00	\$3,520.00	
		MANUFACTURER / PRODUCT #			,	Elkav	
SPW31	20	ELKAY EDFP-210-C		No Bid	\$522.00	\$10,440.00	
		MANUFACTURER / PRODUCT #			· · · · · · · · · · · · · · · · · · ·	Elkay	
SPW32	10	ELKAY EDF-210-C FOUNTAIN		No Bid	\$1,648.87	\$16,488.70	
		MANUFACTURER / PRODUCT #			. , -	Elkay	
SPW50	15	ELKAY EZS8 WATER		No Bid	\$352.00	\$5,280.00	
	-	MANUFACTURER / PRODUCT #		*	***	Elkay	
		5'-9' ADJUSTABLE VALVE KEY NORTHSTAF NS342/5x9-				,	
SPX21K	5	1/2" EXTENDABLE WRENCH		No Bid	\$63.00	\$315.00	
		MANUFACTURER / PRODUCT #			Mich Rake		
*Priced by	carton s	size of 2, 5, 10, 12, or 25			<u> </u>		
**Addition							
***Sold by	carton s	size of 2, 5, 10, or 25					